
MATHS

BOOKS - MARVEL MATHS (HINGLISH)

CIRCLE AND CONICS

ILLUSTRATIVE EXAMPLES

1. Find the equation of the circle having centre at (2,-3) , and

passing through (1, 2) .

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_MAWSqd66xs5e


2. Find the equation of the circle having 

centre at (7,-2) , and touching the X-axis

Watch Video Solution

3. Find the equation of the circle having 

centre at (3,2), and touching the line 

 .

Watch Video Solution

4x + 3y − 8 = 0

4. Find the equation of the circle , centred at (1,4) , which 

cuts off of a chord of length 4 units on the line

Watch Video Solution

3x + 4y + 1 = 0

https://dl.doubtnut.com/l/_cSgkb8QgHBUF
https://dl.doubtnut.com/l/_SpRmCroIUeHS
https://dl.doubtnut.com/l/_0nZ6rYQ58Cio


5. Find the equation of the circle which passes through the

two points (6,4),(8,-4) and has centre on the X-axis

Watch Video Solution

6. Find the equation of the circle passing through the point

(1,9), and touching the line  at the point (-2,0)

.

Watch Video Solution

3x + 4y + 6 = 0

7. Find the equation of the circle which touches the line

 at the point  , and passes through the

origin .

x + 8 = 0 ( − 8, 4)

https://dl.doubtnut.com/l/_0nZ6rYQ58Cio
https://dl.doubtnut.com/l/_aRlabylltgDj
https://dl.doubtnut.com/l/_sM4IGoowMvDa
https://dl.doubtnut.com/l/_bmoT61JJblaL


Watch Video Solution

8. Show that the four point (4,6),(-3,5),(5,-1) and (1,7) are

concyclic.

Watch Video Solution

9. Find the equation of the circle passing through the three

points (0,0) ,(a,0) and (0,b).

Watch Video Solution

10. Find the co-ordinates of the centre and radius of the circle 

Watch Video Solution

3x2 + 3y2 + 6x + 4y − 3 = 0

https://dl.doubtnut.com/l/_bmoT61JJblaL
https://dl.doubtnut.com/l/_qcEAEhZ7AkbD
https://dl.doubtnut.com/l/_k8SxXS6Im5gm
https://dl.doubtnut.com/l/_ckEK41nFRrdj


Watch Video Solution

11. Find the equation of the circle which is concentric with the

circle  , and has radius 5.

Watch Video Solution

x2 + y2 − 6x − 4y − 3 = 0

12. Show that the x- and y-intercepts of the circle  


 

Hence , find the condition that the (i) X-axis (ii) Y-axis 

(iii) both X , and Y-axes touch the circle . 

Also , find the equation of the Iocus of the centre of the 

circle which makes intercepts 2a and 2b on the X - and Y-axis

respectively .

Watch Video Solution

x2 + y2

+2gx + 2fy + c = 0  are2√g2 − c  and 2√f 2 − e

https://dl.doubtnut.com/l/_ckEK41nFRrdj
https://dl.doubtnut.com/l/_T4mR7OXQoM81
https://dl.doubtnut.com/l/_sHrjCtm4m6LO


13. Find the equations of the circles which touch Y-axis at 

the point (0,3) , and make an intercept of 8 units on the X-axis

.

Watch Video Solution

14. Show that the two circles 

and  touch each other . Also ,

find co-ordinates of their point of contact .

Watch Video Solution

x2 + y2 − 4x + 10y + 20 = 0

x2 + y2 + 8x − 6y − 24 = 0

15. Show that the two circles 

and  touch each other . Also , find

the co-ordinates of the point of contact .

x2 + y2 + 4x − 12y + 4 = 0

x2 + y2 − 2x − 4y + 4 = 0

https://dl.doubtnut.com/l/_s6HRbK2UBYXI
https://dl.doubtnut.com/l/_PzDwBWOTKpcQ
https://dl.doubtnut.com/l/_Q8UV8jIRVjq9


Watch Video Solution

16. Find the equation of the circle , centred at (-1,4) , which

touches the circle  externally

Watch Video Solution

x2 + y2 − 6x − 2y + 1 = 0

17. If the two circle 

 

and  

are orthogonal , find k.

Watch Video Solution

x2 + y2 − 10x − 14y + k = 0

x2 + y2 − 4x − 6y + 4 = 0

https://dl.doubtnut.com/l/_Q8UV8jIRVjq9
https://dl.doubtnut.com/l/_nGTtjWsoy2cE
https://dl.doubtnut.com/l/_pPr8YjT0rCwe


18. Find k , if the line y = 2x + k touches the circle  


Watch Video Solution

x2 + y2

−4x − 2y = 0

19. Find the equation of the tangent to the circle

 at the point  .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 + 5x − 3y − 4 = 0 (1, 2)

x + 7y = 9

x + y = 9

7x + y = 9

x + 7y = 12

https://dl.doubtnut.com/l/_W4K90hHUryde
https://dl.doubtnut.com/l/_pvtbRVC7TkuR


20. Find the co-ordinates f the fouces , equation of the

directrix , co-ordinates of the ends and length of the latus

rectum of the parabola : 

Watch Video Solution

3y2 = 16x

21. Find the co-ordinates f the fouces , equation of the

directrix , co-ordinates of the ends and length of the latus

rectum of the parabola : 

Watch Video Solution

x2 + 16y = 0

https://dl.doubtnut.com/l/_pvtbRVC7TkuR
https://dl.doubtnut.com/l/_g5fR5WkxLL2e
https://dl.doubtnut.com/l/_LAwmVYtdljTp


22. Find the equation of the parabola having (3,-6) and (3,6) as

the extremities of the latus rectum .

Watch Video Solution

23. Find the measure of the angle subtended by the latus

rectum of the parabola  at the vertex of the

parabola .

Watch Video Solution

y2 = 4ax

24. A line perpendicular to the axis of the parabola 

intersects the parabola in two points A and B . If AB = 32 ,

show that  is a right angle . Also , find the area of

 .

y2 = 16x

∠AOB

ΔAOB

https://dl.doubtnut.com/l/_5XniBCbf1600
https://dl.doubtnut.com/l/_43BkyUQiP1zK
https://dl.doubtnut.com/l/_D4iizW70DiTd


Watch Video Solution

25. Find the co-ordinates of the point on the parabola

, whose parameter is (-2). Also find its focal distance .

Watch Video Solution

2y2 = 7x

26. If  are the ends of a focal chord of

the parabola  , evaluate :  .

Watch Video Solution

(x1, y1)  and (x2, y2)

y2 = 4ax x1x2 + y1y2

27. If PSQ is a focal chord of the parabola  such that

SP = 3 and SQ = 2 , find the latus rectum of the parabola .

Watch Video Solution

y2 = 4ax

https://dl.doubtnut.com/l/_D4iizW70DiTd
https://dl.doubtnut.com/l/_vWWetXphnEH5
https://dl.doubtnut.com/l/_5TwKQwtR6oHP
https://dl.doubtnut.com/l/_AkBLrLtC5t2v


Watch Video Solution

28. If  is the parameter of one end of a focal chord of the

parabola  , show that the length of this focal chord

is  .

Watch Video Solution

t

y2 = 4ax

(t + )
2

1

t

29. If  is the inclination of a chord of  drawn from

its vertex , show that its length is 

 .

Watch Video Solution

θ y2 = 4ax

4a ⋅ cscθ ⋅ cot θ

https://dl.doubtnut.com/l/_AkBLrLtC5t2v
https://dl.doubtnut.com/l/_shMTNQ19nWfW
https://dl.doubtnut.com/l/_Ud6Ru4H6QXDb


30. Find the eccentricity and co-ordinates of foci of the ellipse 

Watch Video Solution

+ = 1
x2

5

y2

2

31. Find the eccentricity , co-ordinates of foci, lengths of axes

and length of latus-rectum of the ellipse 

Watch Video Solution

(x2 /25) + (y2 /9) = 1

32. Find the lengths of the axes , eccentricity, co-ordinates of

foci, equations of directrices and langth of latus rectum of the

ellipse  .

Watch Video Solution

9x2 + 4y2 = 36

https://dl.doubtnut.com/l/_EEJ3HT13DTSF
https://dl.doubtnut.com/l/_Qn0L2lFxBxyO
https://dl.doubtnut.com/l/_MfaYISl7yWe6


33. Find the equation of the ellipse , referred to is principal

axes , for which eccentricity is (1/3) and foci are 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( ± 4, 0)

+ = 1
x2

144

y2

128

+ = 1
x2

128

y2

144

− = 1
x2

128

y2

144

− = 1
x2

144

y2

128

34. Find the equation of the ellipse , referred to is principal

axes , for which 

https://dl.doubtnut.com/l/_MfaYISl7yWe6
https://dl.doubtnut.com/l/_ABtoQFIcORgb
https://dl.doubtnut.com/l/_rZCP5jQpqLpp


minor axis = 8 and eccentricity 

Watch Video Solution

= 3/5

35. Find the equation of the ellipse , referred to is principal

axes , for which 

semi-minor axis = 3 , and passes through 

Watch Video Solution

( − 2√5, 2)

36. Find the equation of the ellipse , referred to is principal

axes , for which 

eccentricity = 2/3 , and passes through 

Watch Video Solution

(2, − 5/3)

https://dl.doubtnut.com/l/_rZCP5jQpqLpp
https://dl.doubtnut.com/l/_rciaIPiIncPf
https://dl.doubtnut.com/l/_hzVQwPSaKW4w
https://dl.doubtnut.com/l/_M89rfQBaXFrC


37. Find the equation of the ellipse , referred to is principal

axes , for which 

focus is at (1,0) and equation of directrix is x = 4

Watch Video Solution

38. Find the equation of the ellipse , referred to is principal

axes , for which 

distance between foci= minor axis, and latus rectum = 10 .

Watch Video Solution

39. An ellipse meets the line  on the X-axis, and

the line  on the Y-axis. If its principle axes lie

along the co-ordinate axes , find its eccentricity.

W t h Vid S l ti

+ = 1
x

7

y

2

− = 1
x

3

y

5

https://dl.doubtnut.com/l/_M89rfQBaXFrC
https://dl.doubtnut.com/l/_bwnZsgBEZdxC
https://dl.doubtnut.com/l/_JAvarkaOwlga


Watch Video Solution

40. An ellipse , centred at the origin , has major axis 2a . If it

passes through a given  , show that its 

eccentricity is 

Watch Video Solution

(x1, y1)


⎷

x2
1 + y2

1 − a2

x2
1 − a2

41. Any point whose x and y co-ordinates satisfy the equations 

 , where t is an non-zero

parameter, lies on a/m

Watch Video Solution

= =
1 − (x/a)

t2

1 + (x/a)

1

y/b

t

https://dl.doubtnut.com/l/_JAvarkaOwlga
https://dl.doubtnut.com/l/_u7KfvoGhCDFH
https://dl.doubtnut.com/l/_BdDe2Idtb2SO


42. The focus of the parabola  is one of the vertices of

the hyperbola  . If length of the

conjugate axis of this hyperbola is 2. find the equation ,

eccentricity and length of the latus rectum of the hyperbola

Watch Video Solution

y2 = 8x

(x2 /a2) − (y2 /b2) = 1

43. Focus of a parabola  coincides with the focus of

the hyperbola  which is on the positive

direction of X-axis . Find the equation of the tangent line to

the parabola at the end of the latus rectum I which lies in the

first quadrant .

Watch Video Solution

y2 = 4ax

9x2 − 16y2 = 144

https://dl.doubtnut.com/l/_DtUqhi1nXToO
https://dl.doubtnut.com/l/_AFUWNyRDxnTO


44. Find the equation of the hyperbola in standard form , if : 

conjugata axis = 5 and distance between foci = 13

Watch Video Solution

45. Find the equation of the hyperbola in standard form , if : 

eccentricity = 3/2 and distance between directrices = 8/3

Watch Video Solution

46. Find the equation of the hyperbola in standard form , if : 

it is confocal with the ellipse  

and its eccentricity is (5/6) + eccentricity of the parabola

Watch Video Solution

(x2 /9) + (y2 /5) = 1

5y2 = 9x

https://dl.doubtnut.com/l/_GNA8uS1d3T9N
https://dl.doubtnut.com/l/_XUgUoOcz8nwS
https://dl.doubtnut.com/l/_lowhNzKCCBH9


MULTIPLE CHOICE QUESTIONS

47. The abscissa of a point can be expressed as 3 times the

sum of a non-zero number and its reciprocal . If its ordinate

can be written as 2 times the difference of that number and

its reciprocal , find equation of locus of the point and identify

the curve

Watch Video Solution

1. Equation of circle centred at (2,-3) , and passing through

(-1,2) , is

A. x2 + y2 − 4x − 6y − 34 = 0

https://dl.doubtnut.com/l/_lowhNzKCCBH9
https://dl.doubtnut.com/l/_Dv2dNnWJKHlh
https://dl.doubtnut.com/l/_2afcU5VO1s0D


B. 

C. 

D. 

Answer: D

Watch Video Solution

X2 + y2 + 4x − 6y + 34 = 0

X2 + y2 + 4x + 6y + 21 = 0

X2 + y2 − 4x + 6y − 21 = 0

2. Equation of circle centred at (1,-1) , and passing through

(3,2) , is

A. 

B. 

C. 

D. 

x2 + y2 − 2x − 2y − 11 = 0

x2 + y2 − 2x + 2y − 11 = 0

x2 + y2 + 2x + 2y − 11 = 0

x2 + y2 − 2x + 2y + 11 = 0

https://dl.doubtnut.com/l/_2afcU5VO1s0D
https://dl.doubtnut.com/l/_f4G47Z5DljoW


Answer: B

Watch Video Solution

3. Equation of circle cnetred at (5,-2) , and touching X-axis is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 + 10x + 4y + 25 = 0

x2 + y2 + 10x − 4y + 25 = 0

x2 + y2 − 10x + 4y + 25 = 0

x2 + y2 − 10x − 4y − 25 = 0

https://dl.doubtnut.com/l/_f4G47Z5DljoW
https://dl.doubtnut.com/l/_luNU7JYTdG67


4. Find the equation of the circle having 

centre at (7,-2) , and touching the X-axis

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 14x + 4y + 49 = 0

(x + 7)2 + (y − 2)2 = 4

(x − 7)2 + (y − 2)2 = 49

x2 + y2 + 14x − 4y + 4 = 0

5. Equation of of circle centred at (-4, 3) , and tangent to Y-axis

, is

A. x2 + y2 − 8x − 6y − 9 = 0

https://dl.doubtnut.com/l/_DRahyy1gdxnM
https://dl.doubtnut.com/l/_h3HkfWHO9er6


B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 − 8x + 6y + 9 = 0

x2 + y2 + 8x − 6y + 9 = 0

x2 + y2 − 8x − 6y − 9 = 0

6. Equation of circle centred at  , and tangent to Y-

axis ,is

A. 

B. 

C. 

D. 

( − g, − f)

x2 + y2 + 2gx + 2fy + f 2 = 0

x2 + y2 − 2gx − 2fy − f 2 = 0

x2 + y2 − 2gx + 2fy + g2 = 0

x2 + y2 − 2gx − 2fy − g2 = 0

https://dl.doubtnut.com/l/_h3HkfWHO9er6
https://dl.doubtnut.com/l/_EpgcVmZEcWcA


Answer: A

Watch Video Solution

7. Equation of circle centred at (0,-3) , and tanged to X-axis, is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 − 6y = 0

x2 + y2 − 6x = 0

x2 + y2 + 6y = 0

x2 + y2 + 6x = 0

https://dl.doubtnut.com/l/_EpgcVmZEcWcA
https://dl.doubtnut.com/l/_az3zaxrv7oWx


8. Equation of circle centred at (2,0) , and touching Y-axis is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + 4x = 0

x2 + y2 − 4x = 0

x2 − y2 − 4t = 0

x2 + y2 + 4t = 0

9. Equation of circle centred at origin , and touching the line 

 is

A. 

3x − 4y + 20 = 0

x2 + y2 = 4

https://dl.doubtnut.com/l/_kEga7PfDKP8C
https://dl.doubtnut.com/l/_94IFbsZIl1yP


B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 = 9

x2 + y2 = 25

x2 + y2 = 16

10. Equation of circle centred at (3,1), and touching the line 

, is

A. 

B. 

C. 

D. 

8x − 15y + 25 = 0

x2 + y2 − 6x − 2y − 6 = 0

x2 + y2 − 6x − 2y + 6 = 0

x2 + y2 + 6x + 2y + 6 = 0

x2 + y2 + 6x + 2y − 6 = 0

https://dl.doubtnut.com/l/_94IFbsZIl1yP
https://dl.doubtnut.com/l/_4VAjFBKLU8j7


Answer: B

Watch Video Solution

11. Find the equation of the circle whose centre is at


and which cuts off a chord of length 
 on the line

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(3, − 1)

6units

2x − 5y + 18 = 0.

x2 + y2 − 6x + 2y − 38 = 0

x2 + y2 − 6x − 2y − 38 = 0

x2 + y2 + 6x − 2y + 38 = 0

x2 + y2 + 6x − 2y − 38 = 0

https://dl.doubtnut.com/l/_4VAjFBKLU8j7
https://dl.doubtnut.com/l/_R77OpMHvSZOQ


12. Equation of circle centred at (3,-2) , which cuts off a chord 

of length 6 from the line  , is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4x − 3y + 2 = 0

(x − 3)2 + (y + 2)2 = 5

(x + 3)2 + (y − 2)2 = 5

x2 + y2 − 6x + 4y − 12 = 0

x2 + y2 − 4x + 6y + 12 = 0

13. Equation of circle centred on X-axis, and passing through 

(6,4) and (8,-4), is

A. x2 + y2 + 14x + 32 = 0

https://dl.doubtnut.com/l/_17Wzogyg77Vw
https://dl.doubtnut.com/l/_QeAKxZrv0k0x


B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 + 14y + 32 = 0

x2 + y2 − 14y + 32 = 0

x2 + y2 − 14x + 32 = 0

14. Equation of circle centred on Y-axis , and passing through 

(4,6) and (6,11), is

A. 

B. 

C. 

D. 

x2 + y2 − 21y + 74 = 0

x2 + y2 − 21x + 74 = 0

x2 + y2 + 21y − 74 = 0

x2 + y2 − 21y = 0

https://dl.doubtnut.com/l/_QeAKxZrv0k0x
https://dl.doubtnut.com/l/_njmvK47m4v5m


Answer: A

Watch Video Solution

15. Equation of circle centred on the line  , and

passing throught (1,-4) and (5,2), is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x − 2y + 9 = 0

x2 + y2 + 6x + 6y + 47 = 0

x2 + y2 _ 6x + 6y + 47 = 0

x2 + y2 + 6x − 6y − 47 = 0

x2 + y2 − 6x − 6y − 47 = 0

https://dl.doubtnut.com/l/_njmvK47m4v5m
https://dl.doubtnut.com/l/_B0SAnJnLAWIR
https://dl.doubtnut.com/l/_h0f6Q13UPnqi


16. Equation of circle passing through (-2,0),(4,0) , and having

radius 5, is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 ± 2x + 8y − 8 = 0

x2 + y2 − 2x ± 8y − 8 = 0

x2 + y2 + 2x − 8y ± 8 = 0

x2 + y2 + 2x = 0

17. Equation of circle passing through A(-1,-3), B (3,0) 

and touching line  at B , is

A. 

4x + 3y − 12 = 0

x2 + y2 − 2x − 3y − 3 = 0

https://dl.doubtnut.com/l/_h0f6Q13UPnqi
https://dl.doubtnut.com/l/_06bCWjMgt3nv


B. 

C. 

D. 

Answer: D

View Text Solution

x2 + y2 − 2x − 3y − 3 = 0

x2 + y2 − 2x − 3y + 3 = 0

x2 + y2 − 2x + 3y − 3 = 0

18. Equation of circle passing throught (0,0),(3,0) and (0,2) is

A. 

B. 

C. 

D. 

x2 + y2 + 3x − 2y = 0

x2 + y2 − 3x + 2y + 6 = 0

x2 + y2 − 3x − 2y = 0

x2 + y2 − 2x + 3y = 0

https://dl.doubtnut.com/l/_06bCWjMgt3nv
https://dl.doubtnut.com/l/_H8nVbsVUsOJv


Answer: C

Watch Video Solution

19. Equation of circle through the origin , having intercepts 

(6) and (-4) on X- and Y-axes respectively ,is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 6x + 4y = 0

x2 + y2 + 6x − 4y = 0

x2 + y2 + 6x − 4y + 11 = 0

x2 + y2 − 4x − 6y − 11 = 0

https://dl.doubtnut.com/l/_H8nVbsVUsOJv
https://dl.doubtnut.com/l/_RCfD9FrzUQZm
https://dl.doubtnut.com/l/_QWzKCBCV8kyy


20. Show that equation of the circle passing through the

origin and cutting intercepts  on the coordinate axes

is 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

a and b

x2 + y2 − ax − by = 0

x2 + y2 + ax + by = 0

x2 + y2 − ax − by = 0

x2 + y2 − ax + by = 0

x2 + y2 + bx + ay = 0

21. Equation of circumcircle of square OACB of side a, where 

OA and OB are along coordinate axes , is

https://dl.doubtnut.com/l/_QWzKCBCV8kyy
https://dl.doubtnut.com/l/_zrRssvjX62ZC


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 − ax + ay = 0

x2 + y2 + ax − ay = 0

x2 + y2 + ax + ay = 0

x2 + y2 − ax − ay = 0

22. If line y= 2x meets circle  in point A and B

, then equation of circle of which AB is diameter is

A. 

B. 

C. 

x2 + y2 − 4x = 0

5x2 + 5y2 − 4x + 8y = 0

5x2 + 5y2 − 4x + 8y = 0

5x2 + 5y2 − 8x − 4y = 0

https://dl.doubtnut.com/l/_zrRssvjX62ZC
https://dl.doubtnut.com/l/_FAKW38HVaUhO


D. 

Answer: B

Watch Video Solution

5x2 + 5y2 + 8x + 4y = 0

23. If line y = 4x meets circle  in points A

and 

B , then equation of circle of which AB is a diameter is

A. 

B. 

C. 

D. 

Answer: A

x2 + y2 − 17x = 0

x2 + y2 − x − 4y = 0

x2 + y2 − x + 4y = 0

x2 + y2 + x − 4y = 0

x2 + y2 − 4x − y = 0

https://dl.doubtnut.com/l/_FAKW38HVaUhO
https://dl.doubtnut.com/l/_WDwaAZ6XND9j


Watch Video Solution

24. Equation of circle of radius 5, centred on X-axis and touch

Y-axis , is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 ± 5x = 0

x2 + y2 ± 5y = 0

x2 + y2 ± 10y = 0

x2 + y2 ± 10x = 0

https://dl.doubtnut.com/l/_WDwaAZ6XND9j
https://dl.doubtnut.com/l/_eoYGpFKsP9up


25. Equation of circle of radius 5, centred on Y-axis and

touching X-axis , is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 ± 10x = 0

x2 + y2 ± 10y = 0

x2 + y2 ± 5y = 0

x2 + y2 ± 10x ± 10y = 0

26. Equation of circle of radius 5, centred on X -axis and 

passing through origin , is

A. x2 + y2 ± 10x = 0

https://dl.doubtnut.com/l/_g729Ih8qT8Gu
https://dl.doubtnut.com/l/_bQFadZ5gK33A


B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 ± 10y = 0

x2 + y2 ± 10x ± 10y = 0

x2 + y2 = 10

27. Equation of circle of redius 5 , centred on Y-axis and 

passing throught origin , is

A. 

B. 

C. 

D. 

x2 + y2 ± 10x = 0

x2 + y2 ± 10y = 0

x2 + y2 ± 10x ± 10y = 0

x2 + y2 + 10 = 0

https://dl.doubtnut.com/l/_bQFadZ5gK33A
https://dl.doubtnut.com/l/_y1jsOgpxXBEO


Answer: B

Watch Video Solution

28. Equation of circle of radius 5, touching both co-ordinate 

axes , and passing through (1,2). Is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 ± 10x + 10y − 25 = 0

x2 + y2 + 10x ± 10y − 25 = 0

x2 + y2 ± 10x ± 10y − 25 = 0

x2 + y2 − 10x − 10y + 25 = 0

https://dl.doubtnut.com/l/_y1jsOgpxXBEO
https://dl.doubtnut.com/l/_aJoMSclMXC7t
https://dl.doubtnut.com/l/_o9qpWxDOoO0a


29. Equation of circle of area 154 sq. units , two of whose 

diameters are  , is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2x − 3y + 12 = 0  and x + 4y − 5 = 0

x2 + y2 − 6x − 4y + 36 = 0

x2 + y2 + 6x + 4y − 36 = 0

x2 + y2 + 6x − 4y − 36 = 0

x2 + y2 − 6x + 4y + 36 = 0

30. Equation of circle through (5,0) , two of whose diameters 

are x + 2y = 7 and 3x - y = 0 , is

A. x2 + y2 − 2x − 6y − 15 = 0

https://dl.doubtnut.com/l/_o9qpWxDOoO0a
https://dl.doubtnut.com/l/_LgfE3W3zf0zJ


B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 + 2x + 6y − 35 = 0

x2 + y2 + 2x − 6y − 35 = 0

x2 + y2 − 6x − 2y − 16 = 0

31. Equation of circle having radius 5, and touching X-axis at

(-1,0), is

A. 

B. 

C. 

D. 

x2 + y2 ± 2x + 10y − 1 = 0

x2 + y2 ± 2x − 10y + 1 = 0

x2 + y2 + 2x + 10y ± 1 = 0

x2 + y2 + 2x ± 10y + 1 = 0

https://dl.doubtnut.com/l/_LgfE3W3zf0zJ
https://dl.doubtnut.com/l/_Ye3iGrrPe6js


Answer: D

Watch Video Solution

32. Equation of circle throught origin, having radius 5 and

abscissa of centre is (-3) .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 ± 8x + 6y = 0

x2 + y2 + 6x ± 8y − 25 = 0

x2 + y2 + 6x ± 8y = 0

x2 + y2 + 3x ± 4y = 0

https://dl.doubtnut.com/l/_Ye3iGrrPe6js
https://dl.doubtnut.com/l/_tsCPWvszcTXm
https://dl.doubtnut.com/l/_ePt2XRbnOoKE


33. Centre and radius of circle 

are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2x2 + 2y2 − 6x + 4y − 3 = 0

( − , 1),
2

3

√19

2

( , − 1),
2

3

√19

2

( , − 1),
−3

2

√19

2

( , 1),
2

3

√11

2

34. Equation of circle of area 616 sq. units , concentric with 

circle  is

A. 

x2 + y2 + 4x − 4y − 28 = 0

x2 + y2 − 4x + 4y = 188 = 0

https://dl.doubtnut.com/l/_ePt2XRbnOoKE
https://dl.doubtnut.com/l/_HK5i5hBliksS


B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + 4x − 4y − 188 = 0

x2 + y2 − 4x − 4y − 188 = 0

x2 + y2 + 4x − 4y + 28 = 0

35. Equation of circle of circumference  units , concentric 

with circle , is

A. 

B. 

C. 

D. 

14π

x2 + y2 − 6x + 10y = 0

x2 + y2 − 6x + 10y − 15 = 0

x2 + y2 + 6x − 10y − 15 = 0

x2 + y2 − 6x + 10y − 2 = 0

x2 + y2 − 6x + 10y + 15 = 0

https://dl.doubtnut.com/l/_HK5i5hBliksS
https://dl.doubtnut.com/l/_yGwQOMbNoTRV


Answer: A

Watch Video Solution

36. If radius of circle  

is 4, then f=

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2x2 + 2y2 − 8x + 4fy + 26 = 0

±2

±3

±4

±5

https://dl.doubtnut.com/l/_yGwQOMbNoTRV
https://dl.doubtnut.com/l/_5gsHEjIHPJkt
https://dl.doubtnut.com/l/_EB7lmtANb92q


37. Lengths of intercepts made by circle 

 on co-ordinates axes are

A. 

B. 6,7

C. 7,8

D. 8,9

Answer: C

Watch Video Solution

x2 + y2 + x − 4y − 12 = 0

5, 6

38. Lengths of intercepts by circle 

 is

A. 4

x2 + y2 − 6x + 4y − 12 = 0  on line 4x − 3y + 2 = 0

https://dl.doubtnut.com/l/_EB7lmtANb92q
https://dl.doubtnut.com/l/_m0sbYP3ldLmu


B. 6

C. 8

D. 3

Answer: B

Watch Video Solution

39. Two circles  and 

A. touch externally

B. touch internally

C. are orthogonal

D. are disjoint

x2 + y2 − 4x + 10y + 20 = 0

x2 + y2 + 8x − 6y − 24 = 0

https://dl.doubtnut.com/l/_m0sbYP3ldLmu
https://dl.doubtnut.com/l/_yWVTFQC99QTF


Answer: A

Watch Video Solution

40. Two circles  and 

A. touch externally

B. touch internally

C. are orthogonal

D. are concentric

Answer: B

View Text Solution

x2 + y2 = 25

2x2 + 2y2 − 2x + y = 0

https://dl.doubtnut.com/l/_yWVTFQC99QTF
https://dl.doubtnut.com/l/_lBRQiCIMmc8U
https://dl.doubtnut.com/l/_w9UUJVgHEhE5


41. If circles  


and  are orthogonal , 

then 

A. 0

B. 1

C. 

D. 2

Answer: C

Watch Video Solution

x2 + y2 + 2gx + 2fy + c = 0

x2 + y2 + 2x + 2y + 1 = 0

2g + 2f − c =

−1

42. If circles  


and  are orthogonal , then 

x2 + y2 + 2gx + 2fy + e = 0

x2 + y2 + 2x + 2y + 1 = 0

2g + 2f − e =

https://dl.doubtnut.com/l/_w9UUJVgHEhE5
https://dl.doubtnut.com/l/_ZuegWGtIpn6P


A. 0

B. 1

C. 

D. 2

Answer: B

Watch Video Solution

−1

43. If the two circle 

 

and  

are orthogonal , find k.

A. 55

x2 + y2 − 10x − 14y + k = 0

x2 + y2 − 4x − 6y + 4 = 0

https://dl.doubtnut.com/l/_ZuegWGtIpn6P
https://dl.doubtnut.com/l/_yXTmrDJ2R0tI


B. 56

C. 57

D. 58

Answer: D

Watch Video Solution

44. If two circles  and 

 touch each other , then c =

A. 

B. 

C. 

D. 

x2 + y2 − 2ax + c = = 0

x2 + y2 − 2by + c = 0

a2 + b2

a2b2

a2b2

a2 + b2

−
1

a2

1

b2

+
1

a2

1

b2

https://dl.doubtnut.com/l/_yXTmrDJ2R0tI
https://dl.doubtnut.com/l/_u5EQuLZsMe5q


Answer: B

Watch Video Solution

45. If the circle  cuts off a chord of length 

from the line , then

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 = a2 2b

y = mx + c

(1 + m2)(a2 + b2)

(1 − m2)(a2 + b2)

(1 − m2)(a2 − b2)

(1 + m2)(a2 − b2)

https://dl.doubtnut.com/l/_u5EQuLZsMe5q
https://dl.doubtnut.com/l/_s63aM8QJuXzR
https://dl.doubtnut.com/l/_X21Itgsidwjh


46. What is the equation of circle which touches the lines

 , y = 0 and  ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x = 0 x = 2

x2 + y2 − 2x ± 2y + 1 = 0

x2 + y2 − 2x − 2y + 4 = 0

x2 + y2 ± 2x − 2y − 1 = 0

x2 + y2 ± 4x ± 4y + 8 = 0

47. Equation of diameter of circle 

 , 


parallel to co-ordinate axes , are

(x − 5)(x − 7)(y − 1) = 0

https://dl.doubtnut.com/l/_X21Itgsidwjh
https://dl.doubtnut.com/l/_Q8qseC3IvPSk


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

x2 + y2 ± 16x ± 16y + 8 = 0

x2 + y2 ± 8x ± 8y + 16 = 0

x2 + y2 ± 8x ± 8y + 16 = 0

x2 + y2 ± 4x ± 4y + 8 = 0

48. Equations of diameters of circle 

 . 

parallel to co-ordinates axes , are

A. 

B. 

(x − 5)(x − 1) + (y − 7)(y − 1) = 0

x = 1, y = 1

x = 5, y = 7

https://dl.doubtnut.com/l/_Q8qseC3IvPSk
https://dl.doubtnut.com/l/_HZx8cbFLytVj


C. 

D. 

Answer: D

Watch Video Solution

x = 5, y = 1

x = 3, y = 4

49. If circle  touches X-

axis , then c =

A. 4

B. 1

C. 

D. 

Answer: B

x(x − 1) + y(y − 1) = c(x + y − 1)

−1

−4

https://dl.doubtnut.com/l/_HZx8cbFLytVj
https://dl.doubtnut.com/l/_mrPjZmFxpkKm


Watch Video Solution

50. Radii of circles  and 

 are in

A. A .P

B. G.P.

C. H.P.

D. no progression

Answer: D

Watch Video Solution

x2 + y2 = 1, x2 + y2 − 2x − 6y = 6

x2 + y2 − 4x − 12y = 9

https://dl.doubtnut.com/l/_mrPjZmFxpkKm
https://dl.doubtnut.com/l/_peXzoZpGV5bF


51. A circle of radius 
 lies in the first quadrant and touches

both the axes.
 Find the equation of the circle with centre at


and touching the above circle externally.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2

(6, 5)

x2 + y2 + 12x − 10y + 52 = 0

x2 + y2 − 12x − 10y − 52 = 0

x2 + y2 − 12x − 10y + 52 = 0

x2 + y2 + 12x + 10y + 52 = 0

52. Find the equation of the circle the end points of whose

diameter are the centres of the circle :

https://dl.doubtnut.com/l/_cQyMnRDzCLrT
https://dl.doubtnut.com/l/_3QY27JLtB4lR


 and .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 + 6x − 14y = 1 x2 + y2 − 4x + 10y = 2

x2 + t2 + x − 2y + 41 = 0

x2 + y2 + x + 2y − 41 = 0

x2 + y2 + x + 2y − 41 = 0

x2 + y2 + x − 2y − 41 = 0

53. The sides of a square are .

Find the equation of the circle drawn on the diagonals of the

square as its diameter.

A. 

x = 2, x = 3, y = 1 and y = 2

x2 + y2 + 5x + 3y − 8 = 0

https://dl.doubtnut.com/l/_3QY27JLtB4lR
https://dl.doubtnut.com/l/_CFXMWdehsfmI


B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 + 5x − 3y + 8 = 0

x2 + y2 − 5x − 3y + 8 = 0

x2 + y2 − 5x − 3y − 8 = 0

54. If (2,-1) lies on  , which is

concentric with  , then c =

A. 19

B. 

C. 21

D. 

x2 + y2 + 2gx + 2fy + c = 0

x2 + y2 + 4x − 6y + 3 = 0

−19

−21

https://dl.doubtnut.com/l/_CFXMWdehsfmI
https://dl.doubtnut.com/l/_Hfi1DXWJmuim


Answer: B

Watch Video Solution

55. If one end of a diameter of the circle

 is the point , then its

other end is the point.

A. (5,3)

B. (6,2)

C. (1,-8)

D. (11,2)

Answer: D

Watch Video Solution

x2 + y2 − 8x − 14y + c = 0 ( − 3, 2)

https://dl.doubtnut.com/l/_Hfi1DXWJmuim
https://dl.doubtnut.com/l/_iZTGfyj0N5dI


56. If ends of a diameter of a circle are (-4,3) and 

(12,-1) , then y-intercept of the circle is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2√13

4√13

8√13

12√13

57. If abscissas and ordinates of points A , B are roots of 

equation  , then 

equation of circle with AB as a diameter is

x2 − 3x + 2 = 0  and y2 − 7y + 12 = 0

https://dl.doubtnut.com/l/_kHoIJY3FEeeb
https://dl.doubtnut.com/l/_WoVh6Cdoj4hQ


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 − 3x + 7y + 14 = 0

x2 + y2 + 3x − 7y + 14 = 0

x2 + y2 + 3x + 7y + 14 = 0

x2 + y2 − 3x − 7y + 14 = 0

58. Equation of that diameter of circle

 , which passes through origian ,

is

A. 

B. 

x2 + y2 − 6x + 2y − 8 = 0

x − 3y = 0

x + 3y = 0

https://dl.doubtnut.com/l/_WoVh6Cdoj4hQ
https://dl.doubtnut.com/l/_zsuitVTQMx77


C. 

D. 

Answer: B

Watch Video Solution

3x − y = 0

3x + y = 0

59. Equation of circle , concentric with circle 

 and of double its radius , is

A. 

B. 

C. 

D. 

Answer: C

x2 + y2 − 6x + 12y + 15 = 0

x2 + y2 − 6x + 12y + 75 = 0

x2 + y2 − 6x − 12y + 75 = 0

x2 + y2 − 6x − 12y − 75 = 0

x2 + y2 − 6x + 12y − 25 = 0

https://dl.doubtnut.com/l/_zsuitVTQMx77
https://dl.doubtnut.com/l/_rPz1WxhA0XKG


Watch Video Solution

60. Equation of circle which touches line x = y at the origin ,

and passes through (2,1), is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 + 5x + 5y = 0

x2 + y2 + 5x − 5y = 0

x2 + y2 − 5x + 5y = 0

x2 + y2 − 5x − 5y = 0

https://dl.doubtnut.com/l/_rPz1WxhA0XKG
https://dl.doubtnut.com/l/_OyfgRn2Z2iwO


61. If equation of a circle is

, 


then its centre is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(4a − 3)x2 + ay2 + 6x − 2y + 2 = 0

(3, − 1)

(3, 1)

( − 3, 1)

( − 3, − 1)

62. If the equation

 
3x2 + 3y2 + kxy + 9x + (k − 6)y + 3 = 0

https://dl.doubtnut.com/l/_vNWNGOmm62PU
https://dl.doubtnut.com/l/_4iVrKVbgTGDp


represents a circle , then the radius of this circle is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2

3

3

2

√17
2

√17
3

63. Equation  represents

A. a circle

B. a pair of lines

C. a point

x2 + y2 − 8x + 6y + 25 = 0

https://dl.doubtnut.com/l/_4iVrKVbgTGDp
https://dl.doubtnut.com/l/_7yuRPIra7Y8U


D. an ellipse

Answer: C

Watch Video Solution

64. If lines  both

touch the same circle , then radius radius of this circle is

A. 1

B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

12x + 5y + 16 = 0  and 12x + 5y − 10 = 0

https://dl.doubtnut.com/l/_7yuRPIra7Y8U
https://dl.doubtnut.com/l/_kXWQ205S5yz1


65. Abscissas and ordinates of points A and B are roots of 

equation  

respectively. Equation of circle with AB as a diameter is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + 2ax − b2 = 0  and y2 + 2py − q2 = 0

x2 + y2 + 2ax + 2py + b2 + q2 = 0

x2 + y2 − 2ax − 2py − b2 − q2 = 0

x2 + y2 − 2ax + 2py − b2 − q2 = 0

x2 + y2 − 2ax − 2py + b2 + q2 = 0

https://dl.doubtnut.com/l/_kXWQ205S5yz1
https://dl.doubtnut.com/l/_2QpqwEIFQGCV


66. Two points on the circle  ,

one 

nearest to the origin and the other farthest from are

A. (3,4), (9,(12)

B. (3,2),(9,12)

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 12x − 16y + 75 = 0

( − 3, 4), (9, 12)

(3, 4), (, − 12)

67. Two circles  

and 

x2 + y2 − 2x − 4y = 0

x2 + y2 − 8y − 4 = 0

https://dl.doubtnut.com/l/_Trv0FHPPfRH7
https://dl.doubtnut.com/l/_NhuvoALPaXdq


A. touch externally

B. touch internally

C. are orthogonal

D. do not touch

Answer: B

Watch Video Solution

68. If circles  

touch each other , then a =

A. 0

B. 1

C. 

x2 + y2 = 9  and x2 + y2 + 2ax + 2y + 1 = 0

±
4
3

https://dl.doubtnut.com/l/_NhuvoALPaXdq
https://dl.doubtnut.com/l/_tPNfcHOassAw


D. 

Answer: C

Watch Video Solution

±
3

4

69. If lines  touch the

same 

circle , then its radius is

A. 

B. 

C. 

D. 

Answer: B

3x − 4y + 4 = 0  and 6x − 8y − 7 = 0

3

2

3

4

7
10

4
5

https://dl.doubtnut.com/l/_tPNfcHOassAw
https://dl.doubtnut.com/l/_uy7tf6rIwyE4


Watch Video Solution

70. If circles

are concentric , then k =

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 − 3x + ky − 5 = 0  and 4x2 + 4y2 − 12x − y − 9 = 0

−1

8

1

8

1

4

−1

4

https://dl.doubtnut.com/l/_uy7tf6rIwyE4
https://dl.doubtnut.com/l/_EJrLsYV6ZHPl


71. Centre of circle , passing through (0,0) ,(a,0) and (0,b) , is

A. 

B. 

C. (b,a)

D. (a,b)

Answer: B

Watch Video Solution

( , )
b

2
a

2

( , )
a

2
b

2

72. If line  is a diameter of circle 

 , then k =

A. 12

2x − y + k = 0

x2 + y2 + 6x − 6y + 5 = 0

https://dl.doubtnut.com/l/_CYSV4hY0AhmP
https://dl.doubtnut.com/l/_fpQCEcijIrNr


B. 9

C. 3

D. 8

Answer: B

Watch Video Solution

73. Determine equation of the circle whose diameter is the

chord  of the circle = 

A. 

B. 

C. 

D. 

x + y = 1 x2 + y2 4

x2y2 − X − Y + 3 = 0

x2y2 + x + y − 3 = 0

x2 + y2 − x − y − 3 = 0

x2 + y2 + x + y + 3 = 0

https://dl.doubtnut.com/l/_fpQCEcijIrNr
https://dl.doubtnut.com/l/_indOPFYr9rkU


Answer: C

Watch Video Solution

74. If (h,k) is the centre of a circle passing through the origin

then its equation is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 − hx − ky = 0

x2 + y2 + hx − ky = 0

x2 + y2 + 2hx + 2ky = 0

x2 + y2 − 2hx − 2ky = 0

https://dl.doubtnut.com/l/_indOPFYr9rkU
https://dl.doubtnut.com/l/_Uq8MQw2Pbsa6
https://dl.doubtnut.com/l/_c05Nm5EvcTDZ


75. If circles 

touch each other externally , then

A. 

B. 

C. a + b =1

D. 

Answer: D

Watch Video Solution

(x − 1)2 + y2 = a2  and (x + 2)2 + y2 = b2

a − b = 3

a2 + b2 = 1

a + b = 3

76. The centre of circle
 inscribed in a square formed by lines


is
 
 
x2 − 8x + 12 = 0andy2 − 14y + 45 = 0 (4, 7) (7, 4) (9, 4)

(4, 9)

https://dl.doubtnut.com/l/_c05Nm5EvcTDZ
https://dl.doubtnut.com/l/_caJvkwAlTY55


A. (4,7)

B. (7,4)

C. (9,4)

D. (4,9)

Answer: A

Watch Video Solution

77. The radius of the circle, having centre at , whose one

of the chord is a diameter of the circle

A. 1

B. 2

(2, 1)

x2 + y2 − 2x − 6y + 6 = 0

https://dl.doubtnut.com/l/_caJvkwAlTY55
https://dl.doubtnut.com/l/_tChckGr3Y4pv


C. 3

D. 

Answer: C

Watch Video Solution

√3

78. Find the equation of the circle which 

touches the circle  


externally at  with radius 5.

A. 

B. 

C. 

D. 

x2 + y2 − 2x − 4y − 20 = 0

(5, 5)

x2 + y2 + 18x + 16y + 120 = 0

x2 + y2 + 18x − 16y + 120 = 0

x2 + y2 − 18x + 16y + 120 = 0

x2 + y2 + 18x + 16y − 120 = 0

https://dl.doubtnut.com/l/_tChckGr3Y4pv
https://dl.doubtnut.com/l/_EH6OR0tfP4lf


Answer: B

Watch Video Solution

79. If circles  and 

 touch each other, then

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 + 2g1x + 2f1y = 0

x2 + y2 + 2g2x + 2f2y = 0

f1f2 = = g1g2

f1g1 = f2g2

(f1g1)2 = (f2g2)2

f1g2 = f2g1

https://dl.doubtnut.com/l/_EH6OR0tfP4lf
https://dl.doubtnut.com/l/_rTLNMnSl8b2W
https://dl.doubtnut.com/l/_0w6rX218eUt0


80. The locus of the point whose co-ordinates are 

 , where  is a parameter , is

A. circle

B. parabola

C. ellipse

D. hyperbola

Answer: A

Watch Video Solution

x = 3 cos θ + 2, y = 3 sin θ − 4 θ

81. The radius of the circle 

 is

A. 

t2x2 + t2y2 − 2at3x − 2aty + a2t4 − a2t2 + a2 = 0

a

https://dl.doubtnut.com/l/_0w6rX218eUt0
https://dl.doubtnut.com/l/_eeJaamc1WY4H


B. 

C. 

D. 

Answer: A

Watch Video Solution

t

at +
a

t

t +
1

t

82. If the origin lies inside the circle 

 , then

A. 

B. 

C. 

D. fg = c

x2 + y2 + 2gx + 2fy + c = 0

g < 0

f < 0

c < 0

https://dl.doubtnut.com/l/_eeJaamc1WY4H
https://dl.doubtnut.com/l/_J8g1m2ZnJD7G


Answer: C

Watch Video Solution

83. If the co-ordinates of a point P are , 

 , where t is a parameter , then the locus of P is

a/an

A. circle

B. parabola

C. ellipse

D. hyperbola

Answer: A

Watch Video Solution

x = at2

y = a√1 − t4

https://dl.doubtnut.com/l/_J8g1m2ZnJD7G
https://dl.doubtnut.com/l/_lcLOuPzHnwbi


84. Equation of circle which passes through (-1,2) and 

(1,2) , and touches the line y = 5 , is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

9x2 + 9y2 − 60y + 75 = 0

9x2 + 9y2 − 60 − 75 = 0

9x2 + 9y2 + 60y − 75 = 0

9x2 + 9y2 + 60 + 75 = 0

85. If a square is inscribed in the circle

 

then the length of each side of the square is

x2 + y2 + 2gx + 2fy + c = 0

https://dl.doubtnut.com/l/_di3D4rrq3OwP
https://dl.doubtnut.com/l/_lenl5qT4jtHj


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2√g2 + f 2 − c

2(g2 + f 2 − c)

g2 > f 2 + c

√2(g2 + f 2 − c)

86. The equation  represents a

circle of non-zero radius , if

A. 

B. 

C. 

x2 + y2 + 2gx + 2fy + c = 0

g2 + f 2 > c

g2 + f 2 < c

g2 > f 2 + c

https://dl.doubtnut.com/l/_lenl5qT4jtHj
https://dl.doubtnut.com/l/_fb0f0nW1XPo3


D. 

Answer: A

Watch Video Solution

g2 < f 2 + c

87. If  are the radii of the circle 

 , 

A. 

B. 

C. 

D. 

Answer: A

r1, r2  and r3

x2 + y2 − 4x + 6y = 5

x2 + y2 + 6x − 4y = 3  and x2 + y2 − 2x + 4y = 8

r1 > r2 > r3

r2 > r3 > r1

r3 > r1 > r2

r1 > r3 > f2

https://dl.doubtnut.com/l/_fb0f0nW1XPo3
https://dl.doubtnut.com/l/_gCxJSu3uhKPu


Watch Video Solution

88. If the lines  are

tangents to the same circle , then diameter of the circle is

A. 1

B. 5

C. 8

D. 

Answer: D

Watch Video Solution

5x − 12y = 5  and 10x − 24y + 3 = 0

1

2

https://dl.doubtnut.com/l/_gCxJSu3uhKPu
https://dl.doubtnut.com/l/_dlKvs7F0WUGn


89. If the circle described on the join of (2,3) and (3,a) as a

diameter passes through the origin , then : a =

A. 2

B. -2

C. 3

D. -3

Answer: B

Watch Video Solution

90. The radius of the circle, having centre at , whose one

of the chord is a diameter of the circle

(2, 1)

x2 + y2 − 2x − 6y + 6 = 0

https://dl.doubtnut.com/l/_61AHBNGXLmad
https://dl.doubtnut.com/l/_6QmkGt5DAxR4


A. 1

B. 2

C. 3

D. 

Answer: C

Watch Video Solution

√3

91. Area of the circle 

 , is

A. 

B. 

C. 

x2 + y2 + 2 cos θ sinϕ ⋅ x + 2 sinϕ ⋅ y − cos2 ϕ = 0

π

2

4π

9π

https://dl.doubtnut.com/l/_6QmkGt5DAxR4
https://dl.doubtnut.com/l/_NQPGaBHpHPUW


D. 

Answer: D

View Text Solution

π

92. The sides of a square are .

Find the equation of the circle drawn on the diagonals of the

square as its diameter.

A. 

B. 

C. 

D. 

Answer: A

x = 2, x = 3, y = 1 and y = 2

x2 + y2 − 5x − 3y + 8 = 0

x2 + y2 + 5x − 3y + 8 = 0

x2 + y2 + 5x + 3y − 8 = 0

x2 + y2 + 5x + 3y + 8 = 0

https://dl.doubtnut.com/l/_NQPGaBHpHPUW
https://dl.doubtnut.com/l/_l0KdKQFeKEJg


Watch Video Solution

93. If the equation

 


represents a circle , then the radius of this circle is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3x2 + 3y2 + kxy + 9x + (k − 6)y + 3 = 0

3

2

√17
2

2

3

9

2

https://dl.doubtnut.com/l/_l0KdKQFeKEJg
https://dl.doubtnut.com/l/_u52GeUveSjOF


94. If the two circle 

 and 

 are concentric , then : k =

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 − 3x + ky − 5 = 0

4x2 + 4y2 − 12x − y − 9 = 0

−
1

8

1

8

1

4

−
1

4

95. Equation of the chord of the circle 

whose mid-point is (1,0) , is

x2 + y2 − 4x = 0

https://dl.doubtnut.com/l/_OkfIYsfi0ijf
https://dl.doubtnut.com/l/_Eeu8J0DghrP6


A. x= 1

B. x = 2

C. y = 1

D. y = 2

Answer: A

Watch Video Solution

96. Find the equation of the circle passing through the origin

and the
points where the line 
meets the axes of

coordinates.

A. 

B. 

3x + 4y = 12

x2 + y2 + 4x − 3y = 0

x2 + y2 − 4x − 3y = 0

https://dl.doubtnut.com/l/_Eeu8J0DghrP6
https://dl.doubtnut.com/l/_qgifbT0UNnhK


C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − 4x + 3y = 0

x2 + y2 + 4x + 3y = 0

97. The equation of the the circle having x - y - 2 = 0 and x - y +

2 = 0 as two tangents , and x + y = 0 as a diameter is

A. 

B. 

C. 

D. 

Answer: C

x2 + y2 + 2x − 2y + 1 = 0

x2 + y2 − 2x + 2y − 1 = 0

x2 + y2 = 2

x2 + y2 = 1

https://dl.doubtnut.com/l/_qgifbT0UNnhK
https://dl.doubtnut.com/l/_aGZbDYMzvtjT


Watch Video Solution

98. Area of a circle in which a chord of length  makes an

angle  at the centre is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√2

π

2

π

2

2π

π

π

4

https://dl.doubtnut.com/l/_aGZbDYMzvtjT
https://dl.doubtnut.com/l/_NOaxuPSoPiJN


99. An acute triangle PQR is inscribed in the circle

. If Q and R have coordinates (3, 4) and (-4, 3)

respectively, then find .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = 25

∠QPR

π

2

π

3

π

4

π

6

100. Centre of the circle toucing y-axis at (0,3) and making an

intercept 2 units on positive X-axis is

https://dl.doubtnut.com/l/_GZI7ltk3xo7z
https://dl.doubtnut.com/l/_NYcVYP9jvNhB


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(10, √3)

(√3, 10)

(√10, 3)

(3, √10)

101. Circle  touches

A. X-axis

B. Y-axis

C. both X-axis and Y-axis

D. none of the axes

x2 + y2 − 8x + 4y + 4 = 0

https://dl.doubtnut.com/l/_NYcVYP9jvNhB
https://dl.doubtnut.com/l/_kHO9t1cfQJmV


Answer: B

Watch Video Solution

102. Abscissas of two points P and Q are roots of the equation

 while their ordinates are roots of 

 . The centre of the circle with PQ as a

diameter is

A. 

B. (1,2)

C. (1,-2)

D. 

Answer: A

Watch Video Solution

x2 + 2x − 3 = 0

y2 + 4y − 12 = 0

( − 1, − 2)

( − 1, 2)

https://dl.doubtnut.com/l/_kHO9t1cfQJmV
https://dl.doubtnut.com/l/_QPxOi4EVVghI


Watch Video Solution

103. The radius of the circle 

 is

A. b

B. a pair of lines

C. ab

D. 

Answer: A

Watch Video Solution

√1 + a2(x2 + y2) − 2bx − 2aby = 0

√1 + a2

104. If line  touches circle 

 , then c =

3x − y + c = 0

x2 + y2 − 2x + 8y − 23 = 0

https://dl.doubtnut.com/l/_QPxOi4EVVghI
https://dl.doubtnut.com/l/_beomyty5QY2I
https://dl.doubtnut.com/l/_QD4RCaDLzpyZ


A. 13,-27

B. 

C. 

D. 

Answer: A

Watch Video Solution

−13, 27

13, 27

−13, − 27

105. Given  . If  is right-

angled at B, then equation of circum-circle of  is

A. 

B. 

C. 

A ≡ (2, 4)  and C ≡ (4, − 2) ΔABC

ΔABC

x2 + y2 + 6x + 2y = 0

x2 + y2 − 2x − 6y = 0

x2 + y2 + 2x + 6y = 0

https://dl.doubtnut.com/l/_QD4RCaDLzpyZ
https://dl.doubtnut.com/l/_raNMvmufsPzH


D. 

Answer: D

View Text Solution

x2 + y2 − 6x − 6y = 0

106. If  , then k=

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = 2x + k  touches x2 + y2 − 4x − 2y = 0

−2, 8

2, − 8

3, − 7

−3, 7

https://dl.doubtnut.com/l/_raNMvmufsPzH
https://dl.doubtnut.com/l/_Mx60hxY9tjgT


107. If line x cos

 then p =

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

α + y sinα = p  touches  circle x2 + y2 = 2ax

a(1 − sinα)

a(1 − cosα)

a(1 + sinα)

a(1 + cosα)

108. If line  ,

then k =

A. 

4x + 3y + k = 0  touches circle 2x2 + 2y2 = 5x

−5

4

https://dl.doubtnut.com/l/_FlzwgBk4AX2O
https://dl.doubtnut.com/l/_8sWQiflQUm8O


B. 

C. 

D. 

Answer: D

Watch Video Solution

4
5

45
4

−45
4

109. Equation of circle which touches line x = y at the origin ,

and passes through (2,1), is

A. 

B. 

C. 

D. 

x2 + y2 + 5x + 5y = 0

x2 + y2 + 5x − 5y = 0

x2 + y2 − 5x + 5y = 0

x2 + y2 − 5x − 5y = 0

https://dl.doubtnut.com/l/_8sWQiflQUm8O
https://dl.doubtnut.com/l/_4KVdr2EHqXfi


Answer: C

Watch Video Solution

110. If the line  


touches the circle 

A. 1

B. 

C. 0

D. 

Answer: B

View Text Solution

+ = 1
x

a

y

b

x2 + y2 = 1,  then a2 + b2 =

a2b2

a + b

https://dl.doubtnut.com/l/_4KVdr2EHqXfi
https://dl.doubtnut.com/l/_2UI2ObVCAIfV
https://dl.doubtnut.com/l/_6sYvQ2IEdchV


111. Find the equation of the circle which touches both the

axes and the
 straight line 
 in the first quadrant

and lies below it.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

4x + 3y = 6

x2 + y2 − 6x − 6y + 9 = 0

x2 = y2 − 6x − y + 9 = 0

4(x2 + y2 − x − 6y) + 1 = 0

4x2 + 4y2 − 4x − 4y + 1 = 0

112. The intercet on the line y = x by the circle

 is AB . Equation of the circle on AB as a

diameter is

x2 + y2 − 2x = 0

https://dl.doubtnut.com/l/_6sYvQ2IEdchV
https://dl.doubtnut.com/l/_RuaXvtmQ8PGK


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + x + y = 0

x2 + y2 − x − y = 0

x2 + y2 + x − y = 0

x2 + y2 − x + y = 0

113. Find the greatest distance of the point 
 from the

circle 

A. 5

B. 10

C. 15

P (10, 7)

x2 + y2 − 4x − 2y − 20 = 0

https://dl.doubtnut.com/l/_RuaXvtmQ8PGK
https://dl.doubtnut.com/l/_nPrEZ9xFDo2I


D. 20

Answer: C

Watch Video Solution

114. Equation of parabola with vertex (0,0) and focus (2,0) is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 = x

y2 = 2x

y2 = 4x

y2 = 8x

https://dl.doubtnut.com/l/_nPrEZ9xFDo2I
https://dl.doubtnut.com/l/_ozKkcpZc30t5


115. Equation of parabola with vertex (0,0) and focus (2,0) is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 5x

y2 = 8x

y2 = 10x

y2 = 15x

116. Equation of parabola with vertex (0,0) , X-axis as axis of

symmetry , and passing through (2,-4), is

A. y2 = 2x

https://dl.doubtnut.com/l/_beIreQgy9kP4
https://dl.doubtnut.com/l/_MqnmYXJzCQ3k


B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = 4x

y2 = 8x

x2 = 4y

117. Equation of parabola with focus (0,2) and directrix y + 2 =

0 is

A. 

B. 

C. 

D. 

x2 = 8y

x2 = 2y

x2 = 4y

y2 = 4x

https://dl.doubtnut.com/l/_MqnmYXJzCQ3k
https://dl.doubtnut.com/l/_ijPivE9HQPTa


Answer: A

Watch Video Solution

118. Equation of parabola with vertex (0,0) Y-axis ax axis of

symmetry and passing through (3,-9) , is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 = − y

x2 = y

x2 = 3y

y2 + x = 0

https://dl.doubtnut.com/l/_ijPivE9HQPTa
https://dl.doubtnut.com/l/_M8ZmpyPMmdlo
https://dl.doubtnut.com/l/_0U7fXeh1mAM5


119. Ends of latus-rectum of parabola  are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3y2 = 20x

( ± , )
10

3

5

3

( , ± )
5

3

10

3

( , ± )
20

3

10

3

( , ± )
10

3

20

3

120. Enda of latus-rectum of parabola  are

A. 

B. 

C. 

3x2 + 8y = 0

( ± , )
4
3

−2

3

( ± , )
2

3
−4
3

( ± , )
8

3

−2

3

https://dl.doubtnut.com/l/_0U7fXeh1mAM5
https://dl.doubtnut.com/l/_4XYzeT81WqeC


D. 

Answer: A

Watch Video Solution

( , ± )
2

3
4
3

121. Focal distance and parameter of the point  on the

parabola  are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( , 2)
1

2

y2 = 8x

, 2
2

5

5,
1

2

, 2
5

2

,
5

2

1

2

https://dl.doubtnut.com/l/_4XYzeT81WqeC
https://dl.doubtnut.com/l/_dblM2ZJYYanb


122. Focal distance and co-ordinates of the point on the

parabola  , whose parameter is - 1 , are

A. 2,(1, -2)

B. 1,(2,-2)

C. 2,(-2,1)

D. 1, (-2,2)

Answer: A

Watch Video Solution

y2 = 4x

123. If line y = x - 8 meets  in A and B , then length of

intercept AB is

y2 = 4x

https://dl.doubtnut.com/l/_dblM2ZJYYanb
https://dl.doubtnut.com/l/_djmAtBX5e5qH
https://dl.doubtnut.com/l/_kVMyOqnSg1qW


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2√12

8√3

12√2

4√3

124. If  is the parameter for one end of a focal chord of the

parabola  then its length is :

A. 

B. 

C. 

t

y2 = 4ax,

a(t + )
2

1

t

a2(t + )
1

t

a(t − )
21

t

https://dl.doubtnut.com/l/_kVMyOqnSg1qW
https://dl.doubtnut.com/l/_l3e6NxWOGYwt


D. 

Answer: A

Watch Video Solution

a(t2 + 1)

125. If P  is one end of a focal chord PQ of 

 then PQ =

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(3a, 2a√3)

y2 = 4ax

3a

16

16a

√3

16a

3

16a2

3

https://dl.doubtnut.com/l/_l3e6NxWOGYwt
https://dl.doubtnut.com/l/_EPivgz61QIpG


126. If and  are ends of a focal chord of 

 then values of  and  are (A)  (B)

 (C)  (D) 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(x1, y1) (x2, y2)

y2 = 4ax, x1x2 y1y2 a2, a2

2a2, a2 a2, − 4a2 a, a

−4a2, a2

a2, 4a2

−a2, − 4a2

4a2, a2

https://dl.doubtnut.com/l/_EPivgz61QIpG
https://dl.doubtnut.com/l/_5BoUxpEUVj8F


127. If  is the inclination of a focal chord of  to its

axis , then its length is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

θ y2 = 4ax

4a sin2 θ

4a cos2 θ

4a sec2 θ

4a cos ec2θ

128. If  is the inclination of a focal chord of  to its

axis , then its length is

A. 

θ y2 = 4ax

4a sin θ cot θ

https://dl.doubtnut.com/l/_Rcon2sn04ps7
https://dl.doubtnut.com/l/_PWRZ0qfoC1Y2


B. 

C. 

D. 

Answer: C

Watch Video Solution

4a secθ tan θ

4a secθ cot θ

4a sec2 θ

129. If L and L' are ends of latus-rectum of parabola 

whose vertex is A , them =

A. 

B. 

C. 

D. 

y2 = 4ax

m∠LAL'

tan− 1 4

π

2

tan− 1 √2

2 tan− 1 2

https://dl.doubtnut.com/l/_PWRZ0qfoC1Y2
https://dl.doubtnut.com/l/_UqiP7KlqIlad


Answer: D

Watch Video Solution

130. If t is a parameter , then locus of a point 

 is

A. a line through the origin

B. a circle of radius a

C. a parabola with focus (a,0)

D. a parabola with focus (0, a)

Answer: C

Watch Video Solution

P(a sin2 t, 2a sin t)

https://dl.doubtnut.com/l/_UqiP7KlqIlad
https://dl.doubtnut.com/l/_SV5yxL4961w7
https://dl.doubtnut.com/l/_W49O131F9y1s


131. Equation of parabola ,having (4,-8) and (4,8) as ends of its

latus-rectum , is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 8x

y2 = 16x

y2 = − 32x

x2 = 16y

132. Tangent to  at its vertex is

A. its latus-rectum

B. X-axis

y2 = 4ax

https://dl.doubtnut.com/l/_W49O131F9y1s
https://dl.doubtnut.com/l/_YEcRjRjUsWr2


C. Y-axis

D. its directrix

Answer: C

Watch Video Solution

133. Foot of the directrix of the parabola  is the

point

A. (0,0)

B. (a,0)

C. (-a,0)

D. (-a,a)

Answer: C

y2 = 4ax

https://dl.doubtnut.com/l/_YEcRjRjUsWr2
https://dl.doubtnut.com/l/_4toUx52mLORr


Watch Video Solution

134. If A  are point on  , then

slope of AB is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(x1, y1)  and B(x2, y2) y2 = 4ax

x1 − x2

y1 − y2

4a

x1 + x2

4a
y1 + y2

4a

x1 − x2

https://dl.doubtnut.com/l/_4toUx52mLORr
https://dl.doubtnut.com/l/_qMTz4eGXdDmE


135. If A  are points on  , then slope

of AB is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(t1)  and B(t2) y2 = 4ax

4a

t1 + t2

4

t2
1 + t2

2

2a

t1 + t2

2

t1 + t2

136. Points A,B ,C , D on  have parameters 

respectively . If  , then

A. 

y2 = 4ax t1, t2, t3, t4

AB ∣ ∣ CD

t1 + t3 = t2 + t4

https://dl.doubtnut.com/l/_Zdenda61C9oz
https://dl.doubtnut.com/l/_R7AVzfQBLCEO


B. 

C. 

D. 

Answer: B

Watch Video Solution

t1 + t2 = t3 + t4

t1 − t3 = t2 − t4

t1 + t4 = t2 − t3

137. Points A,B,C,D, on  have parameters 

respectively . If AB  CD then 

A. 0

B. 1

C. -4

D. 4

y2 = 4ax t1, t2, t3, t4

⊥ (t1 + t2)(t3 + t4) =

https://dl.doubtnut.com/l/_R7AVzfQBLCEO
https://dl.doubtnut.com/l/_iYwLlblBVitI


Answer: C

Watch Video Solution

138. If PQ is a focal chord of parabola  whose vertex

is A , then product of slopes of AP and AQ is

A. -1

B. -4

C. 4a

D. 1

Answer: B

Watch Video Solution

y2 = 4ax

https://dl.doubtnut.com/l/_iYwLlblBVitI
https://dl.doubtnut.com/l/_sF5yGWoUlXem
https://dl.doubtnut.com/l/_GCLyvmU7QFyq


139. If focal distance of a point P on  is 4, then P is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 8x

( − 2, ± 4)

(2, ± 4)

(4, ± 2)

( ± 4, 2)

140. If focal distance of point P on  is 6, then P is

A. 

B. 

C. 

y2 = 4x

(5, ± 2√5)

(5, ± √5

(√5, ± 5)

https://dl.doubtnut.com/l/_GCLyvmU7QFyq
https://dl.doubtnut.com/l/_ABAgkQsdD5Qz


D. 

Answer: A

Watch Video Solution

(5, 5)

141. An equilateral triangle is inscribed in  so that one

angular point of the triangle is at the vertex of the parabola .

Length of side of this triangle is

A. 

B. 

C. 

D. 

Answer: C

y2 = 8x

4√3

8√3

16√3

12√3

https://dl.doubtnut.com/l/_ABAgkQsdD5Qz
https://dl.doubtnut.com/l/_v6wIBhbdjuFz


Watch Video Solution

142. If (4,0) is the vertex , and Y-axis the directrix of a parabola

, then its focus is

A. (8,0)

B. (4,0)

C. (0,8)

D. (0,4)

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_v6wIBhbdjuFz
https://dl.doubtnut.com/l/_H7voPo3eKN7A


143. The angle subtended by the double ordinate of length 8a

of the parabola  at its vertex is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 4ax

π

4

π

2

π

3

π

6

144. If points  are ends of a focal

chord of  , then

A. uv = 1

(au2, 2au)'  and (av2, 2av)

y2 = 4ax

https://dl.doubtnut.com/l/_jlr4eZr7xsqG
https://dl.doubtnut.com/l/_nfw7yZ5M7hwN


B. u + v = 0

C. u - v= 0

D. 1 + uv = 0

Answer: D

Watch Video Solution

145. A circle centred at the vertex of parabola 

intersects it at the ends of its latus-rectum . Equation of this

cirlce is

A. 

B. 

C. 

x2 = 4y

x2 + y2 = 5

x2 + y2 = 4

x2 + y2 = 1

https://dl.doubtnut.com/l/_nfw7yZ5M7hwN
https://dl.doubtnut.com/l/_kmlP0ibrkBcA


D. 

Answer: A

View Text Solution

x2 + y2 = 2

146. If 
is a focal chord of the parabola 
such that


 , then the length of 
 is
 6 (b) 4
 (c) 3 (d)
 none of

these

A. 6

B. 4

C. 3

D. 5

Answer: C

PSQ y2 = 8x

SP = 6 SQ

https://dl.doubtnut.com/l/_kmlP0ibrkBcA
https://dl.doubtnut.com/l/_rTpSKDAGc0LZ


Watch Video Solution

147. If ASB is a focal chord of a parabola such that AS = 2 and

SB = 4 , then length of its latus-rectum is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

8

3

16

3

25

3

11

3

https://dl.doubtnut.com/l/_rTpSKDAGc0LZ
https://dl.doubtnut.com/l/_AqqxAZdfAveF


148. If a parabole  passes through (2,-6), then its

latus-rectum is

A. 9

B. 16

C. 18

D. 6

Answer: C

Watch Video Solution

y2 = 4ax

149. Equation of directrix of parabola  is

A. 

5y2 = 4x

4x − 1 = 0

https://dl.doubtnut.com/l/_2SseEyg07zyy
https://dl.doubtnut.com/l/_ufod0TIiPvlZ


B. 

C. 

D. 

Answer: C

Watch Video Solution

4x + 1 = 0

5x + 1 = 0

5x − 1 = 0

150. The length of the latusrectum of the parbola whose focus

is (3, 3) and directrix 3x-4y-2=0, is

A. 2

B. 1

C. 4

D. 3

https://dl.doubtnut.com/l/_ufod0TIiPvlZ
https://dl.doubtnut.com/l/_bpeZkqSwFqcy


Answer: A

Watch Video Solution

151. If  are ends of a chord of ,

which cuts its axis at a distance  from the origin , then the

product =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(x1, y1)  and (x2, y2) y2 = 4ax

δ

x1x2

a2

δ2

a2 + δ2

a2δ2

https://dl.doubtnut.com/l/_bpeZkqSwFqcy
https://dl.doubtnut.com/l/_4SiWQQlBdqn7


152. If P(2,8) is one end of the focal chord PQ of the parabola 

 , then the mid-point of PQ is

A. (10,10)

B. (11,11)

C. (17,-12)

D. (11,-12)

Answer: C

Watch Video Solution

(8t2, t16)

153. If  are ends of a focal chord of

parabola 

 =

(x1, y1)  and (x2, y2)

3y2 = 4x,  then x1x2 + y1y2

https://dl.doubtnut.com/l/_EIvFJWVg5ljO
https://dl.doubtnut.com/l/_cDlb30JoKqmi


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

12

−12

1

3

−
1

3

154. Write the length of het chord of the parabola 

which passes through the vertex and in inclined to the axis at


.

A. 

B. 

y2 = 4ax

π

4

4a√2

4a

√2

https://dl.doubtnut.com/l/_cDlb30JoKqmi
https://dl.doubtnut.com/l/_IehsPLFDq6bB


C. 

D. 

Answer: A

Watch Video Solution

2√3

4a√3

155. If the focal distance of a point on the parabola 

 is 4, then its ordinate can be

A. 

B. 

C. 

D. 

Answer: D

y2 = 8x

±1

±2

±3

±4

https://dl.doubtnut.com/l/_IehsPLFDq6bB
https://dl.doubtnut.com/l/_m3aj6IA0liwz


Watch Video Solution

156. If (4,0) is the vertex , and Y-axis the directrix of a parabola ,

then its focus is

A. (4,0)

B. (0,8)

C. (8,0)

D. (0,4)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_m3aj6IA0liwz
https://dl.doubtnut.com/l/_lPxjSHs7gC4G


157. If ASB is a focal chord of a parabola such that AS = 2 and

SB = 4 , then length of its latus-rectum is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

8

3

16

3

25

3

11

3

158. Equation of the directrix of the parabola  is

A. 

5y2 = 4x

4x − 1 = 0

https://dl.doubtnut.com/l/_nll6KKKUYOj2
https://dl.doubtnut.com/l/_2TGAggXGdPho


B. 

C. 

D. 

Answer: C

Watch Video Solution

4x + 1 = 0

5x + 1 = 0

5x − 1 = 0

159. The parametric coordinates of any point on the parabola

 can be

A. 

B. 

C. 

D. 

y2 = 4ax

( − at2, − 2at)

( − at2, 2at)

(a. sin2 t, − 2a. sin t)

a ⋅ sin t, − 2a ⋅ cos t)

https://dl.doubtnut.com/l/_2TGAggXGdPho
https://dl.doubtnut.com/l/_bVO1uc6OvJYy


Answer: C

Watch Video Solution

160. If PSQ is a focal chord of the parabola  such that

SP = 3 and SQ = 2 , find the latus rectum of the parabola .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y2 = 4ax

24
5

12

5

6

5

3

5

https://dl.doubtnut.com/l/_bVO1uc6OvJYy
https://dl.doubtnut.com/l/_kw8afV7pxi9h
https://dl.doubtnut.com/l/_uqExSd976lzL


161. If 
is a focal chord of the parabola 
such that 


 , then the length of 
 is
 6 (b) 4
 (c) 3 (d)
 none of

these

A. 6

B. 4

C. 3

D. 2

Answer: C

Watch Video Solution

PSQ y2 = 8x

SP = 6 SQ

162. If the equation of a parabola is  , then

its eccentricity is e =

y2 + 12x − 4y = 32

https://dl.doubtnut.com/l/_uqExSd976lzL
https://dl.doubtnut.com/l/_iKcLXaH25p07


A. -2

B. 2

C. -1

D. 1

Answer: D

Watch Video Solution

163. Distance between an end of a latus-rectum of the

parabola  and its vertex is

A. 

B. 

C. 

y2 = 16x

√5

3√5

2√5

https://dl.doubtnut.com/l/_iKcLXaH25p07
https://dl.doubtnut.com/l/_i4oFUXjWSjfV


D. 

Answer: D

Watch Video Solution

4√5

164. Semi-axes are 3 and 2

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+ = 1
x2

3

y2

2

+ = 1
x2

2

y2

3

+ = 1
x2

9

y2

4

+ = 1
x2

36

y2

16

https://dl.doubtnut.com/l/_i4oFUXjWSjfV
https://dl.doubtnut.com/l/_uCtkHKQWc4lQ


165. Find the equation of th ellipse, the co-ordinates of whose

foci are  and eccentricity is .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( ± 3, 0)
1

2

+ = 1
x2

36

y2

27

+ = 1
x2

256

y2

81

+ = 1
x2

9

y2

81

+ = 1
x2

9

y2

81

166. Find the equation of the ellipse which passes through the

points (3,1) and (2,2).

A. 3x2 + 5y2 = 32

https://dl.doubtnut.com/l/_2FmFjhIkdB9B
https://dl.doubtnut.com/l/_ddVw521ykRwh


B. 

C. 

D. 

Answer: A

Watch Video Solution

5x2 + 3y2 = 32

+ = 32
x2

5

y2

3

x2 + y2 = 8

167. Find the equation to the ellipse (referred to its axes as the

axes of 
 respectively) which passes through the point

(-3,1) and has
eccentricity 

A. 

B. 

C. 

x and y

√
2

5

5x2 + 3y2 = 32

+ = 1
x2

5

y2

3

+ = 1
x2

3

y2

5

https://dl.doubtnut.com/l/_ddVw521ykRwh
https://dl.doubtnut.com/l/_vPu0BIjNRll8


D. 

Answer: D

Watch Video Solution

3x2 + 5y2 = 32

168. Find equation of ellipse whose l(latus-rectum) =  and

eccentricity 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

5

2

y =
1

2

12x2 + 9y2 = 25

9x2 + 12y2 = 25

+ = 25
x2

9

y2

12

+ = 1
25x2

9

25y2

12

https://dl.doubtnut.com/l/_vPu0BIjNRll8
https://dl.doubtnut.com/l/_7vFqHScsqrX2


169. Minor axis = 6 and one vertex at (5,0) .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

9x2 + 25y2 = 1

25x2 + 9y2 = 1

+ = 1
x2

25

y2

9

+ = 1
x2

36

y2

25

170. Major axis = 3 (minor axis) and l (latus-rectum ) = 2

A. + = 1
x2

81

y2

9

https://dl.doubtnut.com/l/_7vFqHScsqrX2
https://dl.doubtnut.com/l/_ST978xJke4N9
https://dl.doubtnut.com/l/_NHUvsVpnmdbT


B. 

C. 

D. 

Answer: A

Watch Video Solution

9x2 + y2 = 81

+ = 1
x2

9

y2

27

+ = 1
x2

9

y2

4

171. Foci are 

A. 

B. 

C. 

D. 

( ± 3, 0)  and vertices ( ± 5, 0)

+ = 1
x2

25

y2

9

+ = 1
x2

25

y2

16

+ = 1
x2

16

y2

25

+ = 1
x2

9

y2

25

https://dl.doubtnut.com/l/_NHUvsVpnmdbT
https://dl.doubtnut.com/l/_XnPkGcCcvPdi


Answer: B

Watch Video Solution

172. Find equation of ellipse whose vertices are  and

passes through (2,1)

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( ± 3, 0)

5x2 + y2 = 9

x2 + 9y2 = 5

+ y2 = 9
x2

5

x2 + 5y2 = 9

https://dl.doubtnut.com/l/_XnPkGcCcvPdi
https://dl.doubtnut.com/l/_bbOa6FmFRB1i
https://dl.doubtnut.com/l/_8LxnkBHY2r3t


173. Distance between foci is 6 and eccentricity is 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3

5

+ = 1
x2

25

y2

16

+ = 1
x2

16

y2

25

16x2 + 25y2 = 1

25x2 + 16y2 = 1

174. Distance between directrices is 10 and eccentricity  .

A. 

B. 

1

√5

5x2 + 4y2 = 1

4x2 + 5y2 = 1

https://dl.doubtnut.com/l/_8LxnkBHY2r3t
https://dl.doubtnut.com/l/_ohEQkRmYRt80


C. 

D. 

Answer: C

Watch Video Solution

4x2 + 5y2 = 20

5x2 + 4y2 = 20

175. Distance between foci is 4 and distance between

directrices is 5

A. 

B. 

C. 

D. 

Answer: B

5x2 + y2 = 5

x2 + 5y2 = 5

+ 5y2 = 1
x2

5

x2 + = 1
y2

5

https://dl.doubtnut.com/l/_ohEQkRmYRt80
https://dl.doubtnut.com/l/_uOjWzW1htGmc


Watch Video Solution

176. Distance between foci is 8 and major axis is 10.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

+ = 1
x2

25

y2

4

+ = 1
16x2

25

y2

4

+ = 1
x2

9

y2

25

+ = 1
x2

25

y2

9

177. Distance between directrices =  , minor axis = 6
25

2

https://dl.doubtnut.com/l/_uOjWzW1htGmc
https://dl.doubtnut.com/l/_ZsT3hFvXCQxB
https://dl.doubtnut.com/l/_AOWvgLkimbfb


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+ = 1
x2

25

y2

9

+ = 16
x2

225

y2

9

+ = 1
x2

9

y2

25

+ = 1
x2

625

y2

81

178. Distance between foci = 2 and vertices are 

A. 

B. 

C. 

D. 

( ± 2, 0)

3x2 + 4y2 = 1

4x2 + 3y2 = 12

3x2 + 4y2 = 12

+ = 12
x2

3

y2

4

https://dl.doubtnut.com/l/_AOWvgLkimbfb
https://dl.doubtnut.com/l/_UPdxWT2x79UD


Answer: C

Watch Video Solution

179. Distance between a focus and the corresponding directrix

of an ellipse is 16 . If eccentricity is  , then lengths of its

principal axes are

A. 3,4

B. 15,12

C. 12,16

D. 30,24

Answer: D

Watch Video Solution

3

5

https://dl.doubtnut.com/l/_UPdxWT2x79UD
https://dl.doubtnut.com/l/_jDfPQ9ReaqB0


180. An ellipse , with principal axes along co-ordinate axes has

eccentricity  . If distance between its foci is 4 , then it passes

through

A. (1,2)

B. (2,3)

C. (3,2)

D. (2,4)

Answer: B

Watch Video Solution

1

2

181. If two ellipse  have the same

eccentricity , then

E(a > b)and E(α > β)

https://dl.doubtnut.com/l/_0vrJCISUaAUH
https://dl.doubtnut.com/l/_GRMLEX6Tqdvj


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

aα = bβ

aβ = bα

ab = αβ

a + α = b + β

182. If latus-rectum is one-third minor axis, then eccentricity of

the ellipse is

A. 

B. 

C. 

2

5

√2

3

2√2

3

https://dl.doubtnut.com/l/_GRMLEX6Tqdvj
https://dl.doubtnut.com/l/_dyMjY7G4uAp3


D. 

Answer: C

Watch Video Solution

3

3√2

183. If latus-rectum  major axis, then e =

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

= ( )
1

2

1

2

1

√3

1

√2

2

√3

https://dl.doubtnut.com/l/_dyMjY7G4uAp3
https://dl.doubtnut.com/l/_Byi8bBSUenmv


184. If latus-rectum = semi-minor axis, then e=

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

√3

2

√3

4

2

3√3

1

√2

185. If (distance between directrices ) = 3 (distance between

foci) , then e =

A. 
1

2

https://dl.doubtnut.com/l/_8z9yCJPi9uEU
https://dl.doubtnut.com/l/_vwLGysjcSAmI


B. 

C. 

D. 

Answer: C

Watch Video Solution

1

3

1

√3

1

√2

186. If m times distance between foci of an ellipse is equal to n

times distance between its directrices , then

A. 

B. 

C. 

D. 

m < n

m = n

m > n

m, n ∈ N

https://dl.doubtnut.com/l/_vwLGysjcSAmI
https://dl.doubtnut.com/l/_1YavNvbGJNOl


Answer: C

Watch Video Solution

187. Can the distance between foci of an ellipse be equal to

distance its directrices ?

A. Yes

B. No

C. May be

D. Cannot be determined

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_1YavNvbGJNOl
https://dl.doubtnut.com/l/_syQmx8hK3bbF
https://dl.doubtnut.com/l/_Rw8CqSu9ihO8


188. If eccentricities of a parabola and an ellipse are e and e'

respectively, then

A. ee'=1

B. 

C. 

D. 

Answer: C

Watch Video Solution

e' > e

e' < e

e' = e

189. If eccentricities of a parabola and an ellipse are e and e'

respectively, then

A. e − e' < 0

https://dl.doubtnut.com/l/_Rw8CqSu9ihO8
https://dl.doubtnut.com/l/_QzmCS5GqN4YH


B. 

C. 

D. 

Answer: B

Watch Video Solution

e + e' > 1

e + e' < 1

e = e'

190. Co-ordinates of a point  on the ellipse 

 are

A. 

B. 

C. 

D. 

P( )
π

3

16x2 + 25y2 = 400

( , )
5

2

√3

2

( , )
√3

2

5

2

( , )
2

5

2

√3

( , 2√3)
2

5

https://dl.doubtnut.com/l/_QzmCS5GqN4YH
https://dl.doubtnut.com/l/_SbArRFmnsefd


Answer: D

Watch Video Solution

191. foci of the ellipse x = 4  are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos θ, y = 3 sin θ

(0, ± √7)

( ± √7, 0)

( ± 5, 0)

(0, ± 5)

https://dl.doubtnut.com/l/_SbArRFmnsefd
https://dl.doubtnut.com/l/_VtSbGPNNIHRj


192. Focal distances of the point  on the ellipse 


 are

A. 7,13

B. 18,2

C. 4,16

D. 19,1

Answer: A

Watch Video Solution

P(5, 4√3)

64x2 + 100y2 = 6400

193. If a chord PQ , joining P  , of an ellipse 


 , subtands a right angle at its centre , then 


 =

(θ)  Q and (ϕ)

+ = 1
x2

a2

y2

b2

tan θ ⋅ tanϕ

https://dl.doubtnut.com/l/_k0JXlYKafBB1
https://dl.doubtnut.com/l/_nTNBoMsMuAB5


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

a2

b2

−b2

a2

−a2

b2

b2

a2

194. If  are two points on an ellipse 

 , such that chord PQ subtance a right 

angle at its centre 'C' , then  =

A. 

B. 

P (θ)  and Q(ϕ)

+ = 1
x2

a2

y2

b2

+
1

CP 2

1

CQ2

a + b

+
1

a

1

b

https://dl.doubtnut.com/l/_nTNBoMsMuAB5
https://dl.doubtnut.com/l/_VqwhMJ59iFJG


C. 

D. 

Answer: D

Watch Video Solution

a2 + b2

+
1

a2

1

b2

195. If a chord  of an ellipse  subtands a

right angle at the vertex A (a,0), then 

A. 

B. 

C. 

D. 

PθQϕ + = 1
x2

a2

y2

b2

tan( ) ⋅ tan( ) =
θ

2

ϕ

2

−a2

b2

−b2

a2

−b2

a

−
a

b

https://dl.doubtnut.com/l/_VqwhMJ59iFJG
https://dl.doubtnut.com/l/_vop0vTxR2G8z


Answer: B

Watch Video Solution

196. If  is a point on the ellipse  , whose foci are

S and S', then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

P (θ) E(a > b)

SP . S'P =

a2 cos2 θ + b2 sin2 θ

a2 cos2 θ − b2 sin2 θ

a2 sin2 θ − b2 cos2 θ

a2 sin2 θ + b2 cos2 θ

https://dl.doubtnut.com/l/_vop0vTxR2G8z
https://dl.doubtnut.com/l/_S5vYPjpl6YJo
https://dl.doubtnut.com/l/_MHmolWJFUcOK


197. An ellipse , centred at the origin , has eccentricity  and

one directrix d :x = 16 . If P : x = - 4 is a point on this ellipse ,

then SP =

A. 8

B. 9

C. 10

D. -32

Answer: C

Watch Video Solution

1

2

198. If distance between foci of an ellipse equals its latus-

rectrum , then its eccentricity is

https://dl.doubtnut.com/l/_MHmolWJFUcOK
https://dl.doubtnut.com/l/_lVADxQaw4tHd


A. 

B. 

C. 

D. None of these

Answer: D

Watch Video Solution

1 − √5

2

1 + √5

2

√5 − 1

2

199. Find the sum of the focal distances of any point
 on the

ellipse 

A. 32

B. 18

C. 16

9x2 + 16y2 = 144.

https://dl.doubtnut.com/l/_lVADxQaw4tHd
https://dl.doubtnut.com/l/_XQ85In1lw7Ij


D. 8

Answer: D

Watch Video Solution

200. If 
 and 


 , then 
equal
8 (b)
6 (c) 10
 (d)

12

A. 8

B. 6

C. 10

D. 12

Answer: C

P = (x, y), F1 = (3, 0), F2 = ( − 3, 0),

16x2 + 25y2 = 400 PF1 + PF2

https://dl.doubtnut.com/l/_XQ85In1lw7Ij
https://dl.doubtnut.com/l/_vHtGjHpH1DW8


Watch Video Solution

201. The radius of the circle passing through the foci of

, and having centre (0, 3) is

A. 4

B. 3

C. 

D. 

Answer: A

Watch Video Solution

+ = 1
x2

16

y2

9

√12

7
2

https://dl.doubtnut.com/l/_vHtGjHpH1DW8
https://dl.doubtnut.com/l/_hwm9GzMGP55A


202. In an ellipse, the distances between its foci is  and minor

axis is . Then its eccentricity is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

6

8

4
3

1

√52

3

5

1

2

203. For the ellipse ,

A. eccentricity is 

25x2 + 45y2 = 9

1

3

https://dl.doubtnut.com/l/_cBI6jqCh8IWU
https://dl.doubtnut.com/l/_zUa5PzUUcmsq


B. latus-rectum is 

C. foci are 

D. eccentricity = latus-rectum

Answer: D

Watch Video Solution

5

3

( , 0)
±3

5

204. S and T are foci of an ellipse and B is an end of the minor

axis , if STB is an equilateral triangle , the eccentricity of the

ellipse , is

A. 

B. 

C. 

1

4

1

3

1

2

https://dl.doubtnut.com/l/_zUa5PzUUcmsq
https://dl.doubtnut.com/l/_68RyQG8GT5Do


D. 

Answer: C

Watch Video Solution

2

3

205. Any point whose x and y co-ordinates satisfy the

equations 

 , where t is an non-zero

parameter, lies on a/m

A. circle

B. parabola

C. ellipse

D. hyperbola

= =
1 − (x/a)

t2

1 + (x/a)

1

y/b

t

https://dl.doubtnut.com/l/_68RyQG8GT5Do
https://dl.doubtnut.com/l/_py0w9w8gmq93


Answer: C

Watch Video Solution

206. Given  . If P (x,y) is a point

satisfying the condition  , then PA + PB =

A. 3

B. 4

C. 6

D. None of these

Answer: B

Watch Video Solution

A ≡ (0, − 1)  and B = (0, 1)

4x2 + 3y2 = 12

https://dl.doubtnut.com/l/_py0w9w8gmq93
https://dl.doubtnut.com/l/_Ei9ErxGS84GE
https://dl.doubtnut.com/l/_i4Cf8nYPr0Wl


207. For the ellipse  , the ends of the two latus

rectum are the four points

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+ = 1
x2

4

y2

3

( ± 1, ± )
3
2

( ± , ± 1)
3
2

( ± , ± 1)
2

3

( ± 1, ± )
2

3

208. If the equation  represents an

ellipse , then

A. 

+ = 1
x2

16 − K

y2

5 − K

K > 5

https://dl.doubtnut.com/l/_i4Cf8nYPr0Wl
https://dl.doubtnut.com/l/_spGWvnPVfY7y


B. 

C. 

D. 

Answer: C

Watch Video Solution

K > 16

K < 5

5 < K < 16

209. Perimeter of a triangle formed by any point on the ellipse

 and its foci is

A. 13

B. 14

C. 15

D. 16

+ = 1
x2

25

y2

16

https://dl.doubtnut.com/l/_spGWvnPVfY7y
https://dl.doubtnut.com/l/_kEpA123aSx7p


Answer: D

Watch Video Solution

210. If P is any point on the ellipse  whose foci

are S and S' perimeter of  is

A. 18

B. 50

C. 34

D. 9

Answer: A

Watch Video Solution

+ = 1
x2

25

y2

9

ΔSPS'

https://dl.doubtnut.com/l/_kEpA123aSx7p
https://dl.doubtnut.com/l/_855XfqlHZp0K
https://dl.doubtnut.com/l/_8ExB8E4Op5BQ


211. If  and a focus of the ellipse 

 is  , then equation of this

ellipse is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

a2 + b2 = 25

+ = 1
x2

a2 + 3

y2

b2 + 3
(√7, 0)

+ = 1
x2

20

y2

13

+ = 1
x2

12

y2

19

+ = 1
x2

19

y2

12

+ = 1
x2

13

y2

20

212. S and T are foci of an ellipse and B is an end of the minor

axis , if STB is an equilateral triangle , the eccentricity of the

ellipse , is

https://dl.doubtnut.com/l/_8ExB8E4Op5BQ
https://dl.doubtnut.com/l/_aTuClmNgOtoe


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

4

1

3

1

2

2

3

213. If the lines joining the foci of an ellipse to an end of its

minor axis are at right angles , then the eccentricity of the

ellipse is e =

A. 

B. 

1

4

1

√2

https://dl.doubtnut.com/l/_aTuClmNgOtoe
https://dl.doubtnut.com/l/_LE2Wy9NClguk


C. 

D. 

Answer: B

Watch Video Solution

3

4

2

√5

214. P and Q are two points on ellipse  such 


the PQ passes through centre of ellipse . If R is any point on

the ellipse , other then P and Q , then product of slopes of

chords PR and QR is .

A. 

B. 

C. 

+ = 1
x2

a2

y2

b2

a2

b2

b2

a2

−
a2

b2

https://dl.doubtnut.com/l/_LE2Wy9NClguk
https://dl.doubtnut.com/l/_pLVnbawpw0WH


D. 

Answer: D

Watch Video Solution

−
b2

a2

215. The eccentricity of the ellipse which meets the straight

line  on the x- axis and the straight line 

on the y-axis and whose axis lie along the axis of coordinate

A. 

B. 

C. 

D. 

Answer: D

+ 1
x

7

y

2
− = 1

x

3

y

5

3√2

7

2√3

7

√3

7

2√6

7

https://dl.doubtnut.com/l/_pLVnbawpw0WH
https://dl.doubtnut.com/l/_V1wLR4tRKrOy


Watch Video Solution

216. Find the area of the greatest rectangle that can be

inscribed in an ellipse 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+ = 1
x2

a2

y2

b2

√ab

a/b

2ab

πab

https://dl.doubtnut.com/l/_V1wLR4tRKrOy
https://dl.doubtnut.com/l/_DUnSPZ46fFWR


217. An arc of a bridge is semi-elliptical with the
 major axis

horizontal. If the length of the base is 9m and the highest part

of the bridge is 3m from the horizontal, then prove that the

best
 approximation of the height of the acr 2 m from the

center of the base is 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

m.
8

3

m
11

4

m
8

3

m
7
2

2m

https://dl.doubtnut.com/l/_aAqw3ZbCL4fa


218. The equation of the ellipse whose centre is at origin and

which passes through the points (-3,1) and (2,-2) is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

5x2 + 3y2 = 32

3x2 + 5y2 = 32

5x2 − 3y2 = 32

3x2 + 5y2 + 32 = 0

219. If the foci and vetrices of an ellipse be

 then the minor axis of the ellipse is

A. 

( ± 1, 0) and ( ± 2, 0),

2√5

https://dl.doubtnut.com/l/_8x4MNWZAYXz1
https://dl.doubtnut.com/l/_pHi7HecEmJWb


B. 

C. 

D. 

Answer: D

Watch Video Solution

2

4

2√3

220. The equation of the directrice of the ellipse

 are

A. 

B. 

C. 

D. none of these

16x2 + 25y2 = 400

2x = ± 25

5x = ± 9

3x = ± 10

https://dl.doubtnut.com/l/_pHi7HecEmJWb
https://dl.doubtnut.com/l/_2tZ65fUcgKQh


Answer: D

Watch Video Solution

221. The latus rectum of an ellipse is 10 and the minor axis Is

equal to the distnace betweent the foci. The equation of the

ellipse is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + 2y2 = 100

x2 + y2√2 = 100

x2 = 2y2 = 100

https://dl.doubtnut.com/l/_2tZ65fUcgKQh
https://dl.doubtnut.com/l/_Y43MUdPN628s


222. Filnd the distance between the directrices
 the ellipse

A. 8

B. 12

C. 18

D. 24

Answer: C

Watch Video Solution

+ = 1.
x2

36

y2

20

223. The distnce between the foci of the ellipse

 is3x2 + 4y2 = 48

https://dl.doubtnut.com/l/_rB8IAMRcYf9B
https://dl.doubtnut.com/l/_INKS4QRjo4bF


A. 2

B. 4

C. 6

D. 8

Answer: B

Watch Video Solution

224. Foci of an ellipse are  and one of its directrices is

 . Then its equation is

A. 

B. 

C. 

( ± 5, 0)

5x = 36

+ = 1
x2

36

y2

11

+ = 1
x2

6

y2

√11

+ = 1
x2

6

y2

11

https://dl.doubtnut.com/l/_INKS4QRjo4bF
https://dl.doubtnut.com/l/_BYF0aU0j8mF0


D. none of these

Answer: A

Watch Video Solution

225. If the eccentricity of an ellipse be  then its latus

rectum is equal to its

A. minor axis

B. semi-minor axis

C. major axis

D. semi-major axis

Answer: D

Watch Video Solution

,
1

√2

https://dl.doubtnut.com/l/_BYF0aU0j8mF0
https://dl.doubtnut.com/l/_ciiJUNILnIwJ


226. For each point  on an ellipse, the sum of the

distances from  to the points  is 8.

Then the positive value of x so that (x,3) lies on the ellipse is

A. 2

B. 

C. 

D. 4

Answer: A

Watch Video Solution

(a, y)

(x, y) (2, 0) and ( − 2, 0)

2√3

1

√3

https://dl.doubtnut.com/l/_ciiJUNILnIwJ
https://dl.doubtnut.com/l/_hVX1EIBGZZhc


227. If the centre, one of the foci and semi-major axis of an

ellipse are (0,0), (0,3) and 5, then its equation is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

+ = 1
x2

16

y2

25

+ = 1
x2

25

y2

16

+ = 1
x2

9

y2

25

228. If one vertex of an ellipse is (0,7) and the corresponding

directrix is y = 12 , then the equation of the ellipse is

A. 95x2 + 144y2 = 4655

https://dl.doubtnut.com/l/_D8fTCcrRKDhU
https://dl.doubtnut.com/l/_kfXCEkPPtFaJ


B. 

C. 

D. none of these

Answer: B

Watch Video Solution

144x2 + 95y2 = 4655

95x2 + 144y2 = 13680

229. Equation of ellipse having letus rectum 8 and eccentricity

 is

A. 

B. 

C. 

D. 

1

√2

+ = 1
x2

18

y2

32

+ = 1
x2

8

y2

9

+ = 1
x2

64

y2

32

+ = 1
x2

16

y2

24

https://dl.doubtnut.com/l/_kfXCEkPPtFaJ
https://dl.doubtnut.com/l/_wqlYZ3obyv5t


Answer: C

Watch Video Solution

230. Ellipse  is inscribed in a rectangle aligned

with co-ordinate axes . This rectangle itself is inscribed in

another ellipse the passes ellipse that through (-4,0) . Then

the equation of the ellipse is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + 4y2 = 4

x2 + 16y2 = 16

x2 + 12y2 = 16

4x2 + 48y2 = 48

4x2 + 64y2 = 48

https://dl.doubtnut.com/l/_wqlYZ3obyv5t
https://dl.doubtnut.com/l/_1pykeWoiByUf


Watch Video Solution

231. Equation  represents an ellipse if

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

+ = 1
x2

r − 2

y2

5 − r

r > 2

2 < r < 5

r > 5

232. The eccentricity of an ellipse with its centre at the origin

is  . If one of the directrices is x = 4 , then the equation of

ellipse is

1
2

https://dl.doubtnut.com/l/_1pykeWoiByUf
https://dl.doubtnut.com/l/_12Hp21lvYN2Z
https://dl.doubtnut.com/l/_RdvH5UYFGfa6


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3x2 + 4y2 = 1

3x2 + 4y2 = 12

4x2 + 3y2 = 1

4x2 + 3y2 = 12

233. The distanve between the foci of an ellipse is 16 and

eccentricity is  Length of the major axis of the cellipse is

A. 8

B. 64

C. 16

.
1

2

https://dl.doubtnut.com/l/_RdvH5UYFGfa6
https://dl.doubtnut.com/l/_x4c26SFqhEBR


D. 32

Answer: D

Watch Video Solution

234. If the eccentricities of the two ellipse

 and equal , then the

value  , is

A. 

B. 

C. 

D. 

Answer: C

+ = 1 and + = 1
x2

169

y2

25

x2

a2

y2

b2

a

b

5

13

6

13

13

5

13

6

https://dl.doubtnut.com/l/_x4c26SFqhEBR
https://dl.doubtnut.com/l/_fuSnQsmCwjga


Watch Video Solution

235. In the ellipse  , distance between the foci

is

A. 

B. 

C. 3

D. 4

Answer: D

Watch Video Solution

9x2 + 5y2 = 45

4√5

3√5

https://dl.doubtnut.com/l/_fuSnQsmCwjga
https://dl.doubtnut.com/l/_T1JnVRc0BAw3


236. If the distance foci of an ellipse is 8 and distance between

its directrices is 18 , then the equation of the ellipse is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

5x2 − 9y2 = 180

9x2 + 5y2 = 180

x2 + 9y2 = 180

5x2 + 9y2 = 180

237. Find the equation of the hyperbola whole transverse and

conjugate axes are 8 and 6 respectively.

A. 16x2 − 9y2 = 1

https://dl.doubtnut.com/l/_ofreRTZ8BzmM
https://dl.doubtnut.com/l/_beKi3WLxBHGr


B. 

C. 

D. 

Answer: D

Watch Video Solution

− = 1
x2

9

y2

16

9x2 − 16y2 = 1

− = 1
x2

16

y2

9

238. Find the equation of hyperbola where, conjugate axis is 3

along Y-axis and distance between foci is 5.

A. 

B. 

C. 

D. 

− = 1
4x2

9

y2

4

− = 1
x2

4

4y2

9

− = 1
x2

4

y2

9

4x2 − 36y2 = 9

https://dl.doubtnut.com/l/_beKi3WLxBHGr
https://dl.doubtnut.com/l/_t2AAj4EGYaMR


Answer: B

Watch Video Solution

239. The length of the transverse axis of a hyperbola is  and it

passes through the point  The equation of the

hyperbola is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

7

(5, − 2).

− = 1
x2

49

y2

196

− = 1
y2

196
x2

49

− = 1
4x2

7

51y2

196

4x2 − 357y2 = 196

https://dl.doubtnut.com/l/_t2AAj4EGYaMR
https://dl.doubtnut.com/l/_LYPNCBugnAgx


240. One focus at (4,0) corresponding directrix x = 1 .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

4x2 − 12y2 = 1

125x2 − 100y2 = 9

9x2 − 9y2 = 100

3x2 − y2 = 12

241. Distance between foci = 10 and eccentricity = 

A. 

B. 

3

2

− = 1
9x2

100

9y2

125

125x2 − 100y2 = 9

https://dl.doubtnut.com/l/_4V32RR6p05p2
https://dl.doubtnut.com/l/_aoemhxUPYceT


C. 

D. 

Answer: A

Watch Video Solution

9x2 − 9y2 = 100

100x2 − 125y2 = 9

242. Conjugate axis = 10 and eccentricity = 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

6

5

4x2 − 25y2 = 1

4x2 − 25y2 = − 1

− = 1
x2

25

y2

11

4x2 − 25y2 = 100

https://dl.doubtnut.com/l/_aoemhxUPYceT
https://dl.doubtnut.com/l/_G5WoFwrqq6RS


Watch Video Solution

243. One focus at (3,0) and eccentricity = 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

6

5

− = 1
4x2

25

4y2

11

36x2 − 4y2 = 2475

36x2 − 4y2 − 9

9x2 − 36y2 = 25

244. Find the equation of hyperbola whose conjugate axis =

latus-rectum = 8 ,

https://dl.doubtnut.com/l/_G5WoFwrqq6RS
https://dl.doubtnut.com/l/_bXsWbDIEBton
https://dl.doubtnut.com/l/_oxpoEViyM1Ej


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

16x2 − 16y2 = 1

16x2 − 16y2 = − 1

x2 − y2 = 16

8x2 − 8y2 = 1

245.  and distance between directrices 

A. 

B. 

C. 

D. 

e =
3

2
=

8

3

4x2 − 5y2 = 1

− = 1
x2

4

y2

5

− = 1
x2

5

y2

4

4x2 − 5y2 = 20

https://dl.doubtnut.com/l/_oxpoEViyM1Ej
https://dl.doubtnut.com/l/_yObDHWCDMW7j


Answer: B

Watch Video Solution

246. Equation of the hyperbola in standard form which passes

through the points  and  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(6, 9) (3, 0)

3x2 − y2 = 27

− = 1
x2

27

y2

3

− = 1
x2

27

y2

9

27x2 − 3y2 = 9

https://dl.doubtnut.com/l/_yObDHWCDMW7j
https://dl.doubtnut.com/l/_hGeXAjix9Jjo
https://dl.doubtnut.com/l/_NgfG6awr23bS


247. Find the equation of hyperbola whose eccentricity 

and passing through (-5,3) .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

= √2

16x2 − 16y2 = 1

16x2 − 16y2 = − 1

x2 − y2 = 16

4x2 − 4y2 = 1

248. Eccentricity and latus-rectum of  are

A. 

B. 

x2 − 3y2 = 36

, 4
3

√3

, 4
2

√3

https://dl.doubtnut.com/l/_NgfG6awr23bS
https://dl.doubtnut.com/l/_6uIqrF1NPVpK


C. 

D. 

Answer: B

Watch Video Solution

, 9
4

√3

, 9
5

√3

249. For hyperbola, If transverse axis = conjugate axis , then e =

A. 0

B. 1

C. 2

D. 

Answer: D

Watch Video Solution

√2

https://dl.doubtnut.com/l/_6uIqrF1NPVpK
https://dl.doubtnut.com/l/_dFwsyPiDuWuZ


Watch Video Solution

250. If transverse axis = 2 (latus-rectum ), then e =

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√2

√3

√
3

2

√
2

3

251. If conjugate axis = 2 (latus-rectum ), then e =

A. 2

https://dl.doubtnut.com/l/_dFwsyPiDuWuZ
https://dl.doubtnut.com/l/_1JJTj0Sv7wJ8
https://dl.doubtnut.com/l/_VmDusfzS15Bn


B. 

C. 

D. 

Answer: D

Watch Video Solution

√5

√5

√5

2

252. If distance between foci = 3 (distance between directrices)

. Then e =

A. 2

B. 

C. 3

D. 

√2

√3

https://dl.doubtnut.com/l/_VmDusfzS15Bn
https://dl.doubtnut.com/l/_W7kzy2ktLt46


Answer: D

Watch Video Solution

253. Focus of the parabola  is a vertex of a hyperbola

whose conjuagate axis is 4 . Eccentricity of this hyperbola is

A. 2

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 8x

√2

3

√3

https://dl.doubtnut.com/l/_W7kzy2ktLt46
https://dl.doubtnut.com/l/_r7B7iKx0tFzS
https://dl.doubtnut.com/l/_f1CMO6jzOx7G


254. Co-ordinates of point  on the hyperbola 

 are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

P( )
π

4

25x2 − 9y2 = 225

(3√2, 5)

(2√3, 5)

(3, 5√2)

(√2, 15)

255. Focal distances of a point P : x = 13 on 13 on

 are

A. 

81x2 − 144y2 = 11664

,
38

3

92

3

https://dl.doubtnut.com/l/_f1CMO6jzOx7G
https://dl.doubtnut.com/l/_UNybeicyWODM


B. 13, 117

C. 71 , 311

D. 

Answer: D

View Text Solution

,
17
4

113

4

256. If  is a point on the hyperbola , whose

foci are S and S', then 

A. 

B. 

C. 

D. 

P (θ) − = 1
x2

a2

y2

b2

SP . S'P =

a2 sec2 θ + b2 tan2 θ

a2 sec2 θ − b2 tan2 θ

a2 tan2 θ − b2 sec2 θ

a2 tan2 θ + b2 sec2 θ

https://dl.doubtnut.com/l/_UNybeicyWODM
https://dl.doubtnut.com/l/_NET3Ly9XaLHy


Answer: D

Watch Video Solution

257. The length intercepted by the hyperbola  on

the line x - 3y = 1 is

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

x2 − 4y2 = 1

√5
6

5

√10
3

5

√10
6

5

https://dl.doubtnut.com/l/_NET3Ly9XaLHy
https://dl.doubtnut.com/l/_tugtYcfMGn1x
https://dl.doubtnut.com/l/_GqvVY06EmZDd


258. If 
 the eccentricities of a hyperbola and its

conjugate, prove that 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

eande'

+ = 1.
1

e2

1

e'2

e2
1 + e2

2 = 1

− = 1
1

e2
1

1

e2
2

+ = 1
1

e2
1

1

e2
2

e2
1 − e2

2 = 1

259. The eccentricity of the conjugate hyperbola of the

hyperbola 
is
2 (b) 
(c) 4
(d) 

A. 2

x2 − 3y2 = 1 2√3
4
5

https://dl.doubtnut.com/l/_GqvVY06EmZDd
https://dl.doubtnut.com/l/_rhowndUvRSIr


B. 

C. 4

D. 

Answer: A

Watch Video Solution

2

√3

4

√3

260. If the equation  respresents a hyperbola

whose eccentricity is  , then k =

A. 4

B. -4

C. 3

D. -3

4x2 + ky2 = 18

√2

https://dl.doubtnut.com/l/_rhowndUvRSIr
https://dl.doubtnut.com/l/_rURKDzv2RKnR


Answer: B

Watch Video Solution

261. The eccentricity of the hyperbola 

is

A. 

B. 2

C. 

D. 

Answer: A

Watch Video Solution

(x2 − y2) = 1
√2006

4

√2

2√2

√3

https://dl.doubtnut.com/l/_rURKDzv2RKnR
https://dl.doubtnut.com/l/_5U9s6phUZkJ9
https://dl.doubtnut.com/l/_HCRY3AuFUc1G


262. If  the eccentricities of a parabola , and

ellipse and a hyperbola respectively , then

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

e1, e2  and e3

e1 < e2 < e3

e1 < e3 < e2

e3 < e1 < e2

e2 < e1 < e3

263. If  be the eccentricity of a hyperbola and  be the

eccentricity of its conjugate, then show that the point

 lies on the circle .

e1 e2

( , )
1

e1

1

e2
x2 + y2 = 1

https://dl.doubtnut.com/l/_HCRY3AuFUc1G
https://dl.doubtnut.com/l/_yIZvIRSGmYVJ


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 = 0

x2 + y2 = 1

x2 + y2 = 2

x2 + y2 = 3

264. If t is a non-zero parameter , then the locus of the point

of intersection of the lines  and 


 is

A. a circle

B. an ellipse

+ = t
x

a

y

b

− =
x

a

y

b

1

t

https://dl.doubtnut.com/l/_yIZvIRSGmYVJ
https://dl.doubtnut.com/l/_j6fpRTWkBykQ


C. a hyperbola

D. a parabola

Answer: C

Watch Video Solution

265. The locus represented by

 is

A. circle

B. parabola

C. ellipse

D. hyperbola

Answer: D

x = (t + ), y = (t − )
a

2

1

t

a

2

1

t

https://dl.doubtnut.com/l/_j6fpRTWkBykQ
https://dl.doubtnut.com/l/_ybbvuhzNdFIX


Watch Video Solution

266. A hyperbola, centred at the prigin, has transverse axis 2a.

If it passes through a given point  then its

eccentricity is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(x1, y1),


⎷

x2
1 − y2

1 − a2

x2
1 − x2

1


⎷

x2 − x2
1 − y2

1

x2 − a2
1


⎷

a2 + x2
1 + y2

1

a2 − x2
1


⎷a2 −

y2
1

x2
1

https://dl.doubtnut.com/l/_ybbvuhzNdFIX
https://dl.doubtnut.com/l/_YPI6F33xup3U
https://dl.doubtnut.com/l/_C05If8bawnQ3


267. For the hyperbola  , where  is a 

parameter, which of the following remains constant ?

A. abscissa of vertices

B. abscissa of foci

C. eccentricity

D. directrix

Answer: B

Watch Video Solution

− = 1
x2

cos2 α

y2

sin2 α
α

268. Point P, Q and R on the hyperbola  are 


such that line PQ passes through the centre of the hyperbola .

Then product of slopes of PR and QR is

− = 1
x2

a2

y2

b2

https://dl.doubtnut.com/l/_C05If8bawnQ3
https://dl.doubtnut.com/l/_ip3OMtgyc3sm


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

a

b

a2

b2

b2

a2

b

a

269. The equation of the conic with focus at 

directrix along  and with eccentricity  is

A. 

B. 

C. 

(1, − 1),

x − y + 1 = 0 √2,

x2 − y2 = 1

xy = 1

2xy − 4x + 4y + 1 = 0

https://dl.doubtnut.com/l/_ip3OMtgyc3sm
https://dl.doubtnut.com/l/_mMwDH9d63ZWD


D. 

Answer: C

Watch Video Solution

2xy + 4x − 4y − 1 = 0

270. The equation 

represents

A. a parabola

B. an ellipse

C. a hyperbola

D. a circle

Answer: C

Watch Video Solution

x = , y = , t ∈ R,
et + e− t

2
et − e− t

2

https://dl.doubtnut.com/l/_mMwDH9d63ZWD
https://dl.doubtnut.com/l/_e8C8iLv82mD4


271. Locus of the point of intersection of the lines 

 and 

 , where m is parameter , is

A. a parabola

B. a hyperbola with e = 2

C. an ellipse with 

D. a circle

Answer: B

Watch Video Solution

mx√3 + my − 4√3 = 0

x√3 − y − 4m√3 = 0

e =
2

3

https://dl.doubtnut.com/l/_e8C8iLv82mD4
https://dl.doubtnut.com/l/_OVzyWCKXLSNl


272. Write the equation of the hyperbola whose vertices are


and foci at 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( ± 3, 0) ( ± 5, 0)

16x2 − 9y2 = 144

9x2 − 16y2 = 144

25x2 − 9y2 = 225

9x2 − 25y2 = 81

273. lf the eccentricity of the hyperbola  is 

 times the eccentricity of the ellipse 

then a value of  is : (a)  (b)  (c)  (d) 

x2 − y2(sec)α = 5

√3 x2(sec)2
α + y2 = 25,

α
π

6

π

4

π

3

π

2

https://dl.doubtnut.com/l/_YFt6TJak8yt4
https://dl.doubtnut.com/l/_rpnfGuwPFdEh


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

π

6

π

4

π

3

π

2

274. Standard equation of the hyperbola having distance

between foci to 32 , and eccentricity  , is

A. 

B. 

C. 

2√2

7x2 − y2 = 56

x2 − 7y2 = 56

7x2 − y2 = 224

https://dl.doubtnut.com/l/_rpnfGuwPFdEh
https://dl.doubtnut.com/l/_U6aQM7m4yomJ


D. 

Answer: C

Watch Video Solution

x2 − 7y2 = 224

275. If  and the eccentricity of the ellipse 

, then 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

0 < α <
π

2

x2 tan2 α + y2 sec2 α = 1is1/2 α

π

12

π

6

5π

12

π

3

https://dl.doubtnut.com/l/_U6aQM7m4yomJ
https://dl.doubtnut.com/l/_TwwwQyUhHw48


276. If P is a point on the hyperbola  whose

foci are 

A. 4

B. 6

C. 8

D. 12

Answer: B

Watch Video Solution

16x2 − 9y2 = 144

S1  and S2  then : |S1P − S2P | =

277. If the latus rectum of an hyperbola be 8 and eccentricity

be  the the equation of the hyperbola is
3

√5

https://dl.doubtnut.com/l/_TwwwQyUhHw48
https://dl.doubtnut.com/l/_LY8D05d4b8xy
https://dl.doubtnut.com/l/_rrqy1Jrpl2T5


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4x2 − 5y2 = 100

5x2 − 4y2 = 100

4x2 + 5y2 = 100

5x2 + 4y2 = 100

278. Eccentricity of the hyperbola passing through (3,0) and

 is

A. 

B. 

C. 

(3√2, 2)

√13

√13

3

√13

4

https://dl.doubtnut.com/l/_rrqy1Jrpl2T5
https://dl.doubtnut.com/l/_ANr1KVzEskJP


D. 

Answer: B

Watch Video Solution

√13

2

279. Find the equation of the hyperbola whose conjugate
axis

is 5 and the distance between the foci is 13.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

25x2 − 144y2 = 900

144y2 − 25y2 = 900

25x2 + 144y2 = 900

144x2 + 25y2 = 900

https://dl.doubtnut.com/l/_ANr1KVzEskJP
https://dl.doubtnut.com/l/_fY8OVG2ie0Wm


280. The length of the transverse axis of a hyperbola is  and

it passes through the point  The equation of the

hyperbola is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

7

(5, − 2).

x2 − y2 = 1
4
49

196

51

x2 − y2 = 1
49
4

51

196

x2 − y2 = 1
4
49

51

196

https://dl.doubtnut.com/l/_fY8OVG2ie0Wm
https://dl.doubtnut.com/l/_1cSNkgK48B1e


281. If  be the vertices and 

 be the foci of a hyperbola, then its

eccentricity is

A. 

B. 2

C. 

D. 

Answer: C

Watch Video Solution

(4, 0) and ( − 4, 0)

(6, 0) and ( − 6, 0)

5/2

3/2

√2

282. If  are respectively the foci and

vertices of a hyperbola , then its equation is

(0, ± 4)  and (0, ± 2)

https://dl.doubtnut.com/l/_ZyNNckca8xXb
https://dl.doubtnut.com/l/_wVTlYbx1S0LH


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

− = 1
x2

4

y2

12

− = 1
x2

12

y2

4

− = 1
y2

4
x2

12

− = 1
y2

12
x2

4

283. Eccentricity of the a hyperbola can never be equal to

A. 

B. 

C. 

D. 

√
9

5

√
1

9

3√
1

8

2

https://dl.doubtnut.com/l/_wVTlYbx1S0LH
https://dl.doubtnut.com/l/_ORvBjjN4TRyN


Answer: B

Watch Video Solution

284. A hyperbola passes through (3,2) and (-17, 12) and has its

centre at origin and transverse axis along X-axis . Then length

of its transverse axis is

A. 2

B. 4

C. 6

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ORvBjjN4TRyN
https://dl.doubtnut.com/l/_c5YYdPk2FZzh


285. Equation of hyperbola is standard from having latus

rectum = 9 and eccentricity = 5/4 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

− = 1
x2

16

y2

18

− = 1
x2

36

y2

27

− = 1
x2

64

y2

36

− = 1
x2

36

y2

64

286. Distance between foci of a hyperbola is double the

distance between its vertices . If the length of its conjugate

axis is 6, then equation is

https://dl.doubtnut.com/l/_wpfRUyhZWA5D
https://dl.doubtnut.com/l/_PxPOxFx7FzCE


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3x2 − y2 = 3

x2 − 3y2 = 3

3x2 − y2 = 9

x2 − 3y2 = 9

287. The equation to the hyperbola having its eccentricity 2

and the distance between its foci is 8 is

A. 

B. 

C. 

− = 1
x2

12

y2

4

− = 1
x2

4

y2

12

− = 1
x2

8

y2

2

https://dl.doubtnut.com/l/_PxPOxFx7FzCE
https://dl.doubtnut.com/l/_wl7MqvaOY1gN


D. 

Answer: B

Watch Video Solution

− = 1
x2

16

y2

9

288. If the distance between the foci and the distance between

the two
directricies of the hyperbola 
are in the

ratio 3:2, then 
is
 
(b) 
 
(d) 

A. 

B. 

C. 

D. 

Answer: A

− = 1
x2

a2

y2

b2

b : a 1: √2 √3: √2 1: 2 2: 1

√2: 1

√3: √2

1: 2

2: 1

https://dl.doubtnut.com/l/_wl7MqvaOY1gN
https://dl.doubtnut.com/l/_fampHhDIE5P2


MISCELLANEOUS MCQs

Watch Video Solution

289. The distance between the directices of the hyperboltic

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x = 8 secθ, y = 8 tan θis

16√2

√2

8√2

4√2

https://dl.doubtnut.com/l/_fampHhDIE5P2
https://dl.doubtnut.com/l/_jZ0OKD1QWRuC
https://dl.doubtnut.com/l/_vhtiAodIksCq


1. If the equation 

 

represents a circle , then its radius is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ax2 + by2 + (a + b − 4)xy − ax − by − 20 = 0

√21

2

√42
2

2√21

√22

2. Circle  touches

A. neither of the two axes

x2 + y2 − 8x + 4y + 4 = 0

https://dl.doubtnut.com/l/_vhtiAodIksCq
https://dl.doubtnut.com/l/_dP0PmxE5KW10


B. X-axis

C. both of the two axes

D. Y-axis

Answer: D

Watch Video Solution

3. If the circles of same radius a and centres (2,3), (5,6) cut

orthogonally , then a=

A. 

B. 3

C. 4

D. none of these

2√2

https://dl.doubtnut.com/l/_dP0PmxE5KW10
https://dl.doubtnut.com/l/_Xk4J4Hlkm6Aq


Answer: B

Watch Video Solution

4. If the equation 

 


represents a circle , then : a =

A. 1

B. 4

C. 2

D. none of these

Answer: A

Watch Video Solution

a2x2 + (a2 − 5a + 4)xy + (3a − 2)y2 − 8x + 12y − 4 = 0

https://dl.doubtnut.com/l/_Xk4J4Hlkm6Aq
https://dl.doubtnut.com/l/_ZCEz3Dve7o3Q


5. The  represents a

circle whose centre is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(x − x1)(x − x2) + (y − y1)(y − y2 = 0

( , )
x1 − x2

2

y1 − y2

2

( , )
x1 + x2

2

y1 + y2

2

(x1, y2)

(x2, y1)

6. Two circles with centres at  and having radii 

will intersect each in two real distinct points if , and only if :

A. 

C1, C2 r1, r2

l(C1C2) < r1 + r2

https://dl.doubtnut.com/l/_ymJF9QbkDP8y
https://dl.doubtnut.com/l/_tyaZzkuPfI1L


B. 

C. 

D. none of these

Answer: C

Watch Video Solution

l(C1C2) − |r1 − r2|

|r1 − r2| < l(C1C2) < r1 + r2

7. If the two circles  ,

where  , touch each other intenally , then :

A. c = a

B. c = 2a

C. 

D. none of these

x2 + y2 + ax = 0  and x2 + y2 = c2

a, c > 0

c = a/2

https://dl.doubtnut.com/l/_tyaZzkuPfI1L
https://dl.doubtnut.com/l/_X5EuB3nGmJSy


Answer: A

Watch Video Solution

8. If the line  is a diameter of the circle 

, then : b =

A. 3

B. 

C. 

D. 5

Answer: D

Watch Video Solution

x + 2by + 7 = 0

x2 + y2 − 6x + 2y = 0

−5

−1

https://dl.doubtnut.com/l/_X5EuB3nGmJSy
https://dl.doubtnut.com/l/_B2ZSrxxV4UdK
https://dl.doubtnut.com/l/_crenIQUU1doI


9. If the circle  touches the X-axis

then : k =

A. 

B. 12

C. 

D. 16

Answer: C

Watch Video Solution

x2 + y2 − kx − 12y + 4 = 0

√12

√16

10. The equation of the circle which touches both axes and

whose centre is  is

A. 

(x1, y1)

x2 + y2 + 2x1(x + y) + x2
1 = 0

https://dl.doubtnut.com/l/_crenIQUU1doI
https://dl.doubtnut.com/l/_hYgbM9boXN2l


B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − 2x1(x + y) + x2
1 = 0

x2 + y2 = x2
1 + y2

1

x2 + y2 + 2xx1 + 2yy1 = 0

11. A circle touches the y-axis at the point (0, 4) and cuts the x-

axis in
 a chord of length 6 units. Then find the radius of the

circle.

A. 3

B. 4

C. 5

https://dl.doubtnut.com/l/_hYgbM9boXN2l
https://dl.doubtnut.com/l/_Y5YIg9g0a6PP


D. 6

Answer: C

Watch Video Solution

12. Centre of the circle 

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(x − x1)(x − x2) + (y − y1)(y − y2) = 0

( , )
x1 + y1

2

x1 + y2

2

( , )
x1 − y1

2

x2 − y2

2

( , )
x1 + x2

2

y1 + y2

2

( , )
x1 − x2

2

y1 − y2

2

https://dl.doubtnut.com/l/_Y5YIg9g0a6PP
https://dl.doubtnut.com/l/_unWJqj6VNNDM


13.  is right angled at C . If 

 then equation of circumcircle

of  is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

ΔABC

A ≡ ( − 3, 4)  and B ≡ (3, 4)

ΔABC

x2 + y2 − 6x + 8y = 0

x2 + y2 = 25

x2 + y2 − 3x + 4y + 5 = 0

https://dl.doubtnut.com/l/_unWJqj6VNNDM
https://dl.doubtnut.com/l/_WawFzFjnxIZm


14. If the equation , 

 


represents a circle , then : (p,q) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

px2 + (2 − q)xy + 3y2 − 6qx + 30y + 6y = 0

≡

(3, 1)

(2, 2)

(3, 2)

(3, 4)

15. Circle  touches

A. X-axis at the origin

x2 + y2 + 6y = 0

https://dl.doubtnut.com/l/_cMQlBUSqg9q4
https://dl.doubtnut.com/l/_vrVhXtkE9s4I


B. Y-axis at the origin

C. X-axis at (3,0)

D. the line y + 3 = 0

Answer: A

Watch Video Solution

16. Equation of the circle with centre at (1,-2) , and passing

through the centre of the circle  , is

A. 

B. 

C. 

D. 

x2 + y2 + 2y − 3 = 0

x2 + y2 − 2x + 4y + 3 = 0

x2 + y2 − 2x + 4y − 3 = 0

x2 + y2 + 2x − 4y − 3 = 0

x2 + y2 + 2x − 4y + 3 = 0

https://dl.doubtnut.com/l/_vrVhXtkE9s4I
https://dl.doubtnut.com/l/_p56bIDOsHnKF


Answer: A

Watch Video Solution

17. Equation of the circle concentric with the circle 

 , and passing through the

centre of the circle ,is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + 8x + 10y − 7 = 0

x2 + y2 − 4x − 6y = 0

x2 + y2 + 8x + 10y + 59 = 0

x2 + y2 + 8x + 10y − 59 = 0

x2 + y2 − 4x − 6y + 87 = 0

x2 + y2 − 4x − 6y − 87 = 0

https://dl.doubtnut.com/l/_p56bIDOsHnKF
https://dl.doubtnut.com/l/_Di5Y0NnuY9zn


18. Equation of the circle passing through the three points 

(0, 0) , (0,b) and (a,b) is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 + ax + by = 0

x2 + y2 − 6x + 12y − 15 = 0

x2 + y2 − ax − by = 0

x2 + y2 − 6x + 12y + 45 = 0

19. A circle is concentric with the circle 

 


and has area double of its area. Its equation is

x2 + y2 − 6x + 12y + 15 = 0

https://dl.doubtnut.com/l/_7fyF7hHWC8Pd
https://dl.doubtnut.com/l/_wiI5fSr3gBNy


A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 − 6x + 12y − 15 = 0

x2 + y2 − 6x + 12y + 15 = 0

x2 + y2 − 6x + 12y + 45 = 0

20. Equation of the circle with centre on the X-axis , radius 4 ,

and passing through the origin , is

A. 

B. 

C. 

x2 + y2 + 4x = 0

x2 + y2 − 8y = 0

x2 + y2 ± 8x = 0

https://dl.doubtnut.com/l/_wiI5fSr3gBNy
https://dl.doubtnut.com/l/_lTmaDwcHuWfc


D. 

Answer: C

Watch Video Solution

x2 + y2 + 8y = 0

21. the equation of the circle passing through the point 

and touching -axis at the origin is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

(2, 1)

y

x2 + y2 − 5x = 0

2x2 + 2y2 − 5x = 0

x2 + y25x = 0

https://dl.doubtnut.com/l/_lTmaDwcHuWfc
https://dl.doubtnut.com/l/_A9pMev4nEF26


22. Equation of the circle which passes through the origin and

cuts off intercepts of length 2 units from negative co-ordinate

axes , is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 + 2x + 2y = 0

x2 + y2 + 2x − 2y = 0

x2 + y2 + 2x + 2y = 0

x2 + y2 − 2x − 2y = 0

https://dl.doubtnut.com/l/_A9pMev4nEF26
https://dl.doubtnut.com/l/_O0XaFLibePt3


23. If the radius of the circel  be

r, then it will touch both the axes, if

A. 

B. 

C. 

D. g = f and 

Answer: C

Watch Video Solution

x2 + y2 + 2gx + 2fy + c = 0

g = f = r

g = f = c = r

g = f = √c = r

c2 = r

24. Equation of the circle with centre on X-axis , radius 5, and

passing through (2,3) , is

A. x2 + y2 + 4x − 21 = 0

https://dl.doubtnut.com/l/_rwiDWn5ygjU9
https://dl.doubtnut.com/l/_nwLVp5QDg39X


B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 4x − 21 = 0

x2 + y2 − 4x − 21 = 0

x2 + y2 + 5x − 21 = 0

25. The equation of the circel which touches X-axis at 

and passes through  is given by

A. 

B. 

C. 

D. 

(3, 0)

(1, 4)

x2 + y2 − 6x − 5y + 9 = 0

x2 + y2 + 6x + 5y = 0

x2 + y2 − 6x + 5y − 9 = 0

x2 + y2 + 6x − 5y + 9 = 0

https://dl.doubtnut.com/l/_nwLVp5QDg39X
https://dl.doubtnut.com/l/_eAcVWFujycMY


Answer: A

Watch Video Solution

26. The equation  

represents a circle through the origin , if

A. a = 0, b= 0 ,c = 2

B. a= 1, b = 0 , c = 0

C. a= 2, b= 2, c= 0

D. a = 2, b= 0 , c= 0

Answer: D

Watch Video Solution

ax2 + 2bxy + 2y2 + 2x − y + c = 0

https://dl.doubtnut.com/l/_eAcVWFujycMY
https://dl.doubtnut.com/l/_d6o0Qq6vNw8q
https://dl.doubtnut.com/l/_wX3mWme4GU6V


27. Equation of the circle , centred at the origin , whose radius

equals the distance between the lines x = -1 and x = 1 , is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = 1

x2 + y2 = 2

x2 + y2 = 4

x2 + y2 = − 4

28. If the equation of a circle which touches the line x = y at

the origin , and passes through (2,1) is 

 , then : (p,q) x2 + y2 + px + qy = 0 ≡

https://dl.doubtnut.com/l/_wX3mWme4GU6V
https://dl.doubtnut.com/l/_yTbh2I3kMxqq


A. (5,-5)

B. (-4,4)

C. (4,-4)

D. (-5,5)

Answer: D

Watch Video Solution

29. A circle  passing through

 is concentric to the circle 

 then the value of c will be

A. x= 1

B. 4

x2 + y2 + 2gx + 2fy + c = 0

(4, − 2)

x2 + y2 − 2x + 4y + 20 = 0,

https://dl.doubtnut.com/l/_yTbh2I3kMxqq
https://dl.doubtnut.com/l/_vdcy1Op68akz


C. 0

D. 1

Answer: A

Watch Video Solution

30. If the equation  represents

a circle with X-axis as a diameter , and radius a, then :

A. 

B. 

C. 

D. none of these

Answer: C

x2 + y2 + 2gx + 2fy + c = 0

f = 2a, g = 0, c = 3a2

f = 0, g = a, c = 3a2

f = 0, g = − 2a, c = 3a2

https://dl.doubtnut.com/l/_vdcy1Op68akz
https://dl.doubtnut.com/l/_6plM7JvneT03


Watch Video Solution

31. Equation of the circle with centre (-4,3), and touching the

circle , is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

x2 + y2 = 1

x2 + y2 + 8x − 6y + 9 = 0

x2 + y2 + 8x + 6y − 11 = 0

x2 + y2 + 8x + 6y + 9 = 0

https://dl.doubtnut.com/l/_6plM7JvneT03
https://dl.doubtnut.com/l/_wF6QZ7MMhfWV


32. Equation of the circle concentric with the circle 

, and touching Y-axis , is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

x2 + y2 − 4x − 6y − 3 = 0

x2 + y2 − 4x − 6y − 9 = 0

x2 + y2 − 4x − 6y + 9 = 0

x2 + y2 − 4x − 6y + 3 = 0

33. Radius of the circle ,

is

A. 1

x2 + y2 + 2x cos θ + 2y sin θ − 8 = 0

https://dl.doubtnut.com/l/_NNGyyzFQLyNg
https://dl.doubtnut.com/l/_q3TrW2kKIVv2


B. 3

C. 

D. 

Answer: B

Watch Video Solution

2√3

√10

34. If the equation represents a

ciecle, then K =

A. 

B. 1

C. 

D. 12

+ = 1
K(x + 1)

2

3

(y + 2)
2

4

3

4

4

3

https://dl.doubtnut.com/l/_q3TrW2kKIVv2
https://dl.doubtnut.com/l/_kAX8y3pf8wT8


Answer: A

Watch Video Solution

35. The focus of the parabola  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4y2 + 12x − 20y + 67 = 0

( − 7/2, 5/2)

( − 3/4, 5/2)

( − 17/4, 5/2)

(5/2, − 3/4)

https://dl.doubtnut.com/l/_kAX8y3pf8wT8
https://dl.doubtnut.com/l/_z38chwodL8sK


36. The equation of the directirx of the parabola

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y2 + 4y + 4x + 2 = 0

x = 1

x = − 1

x = − 3/2

x = 3/2

37. If the focus of a parabola divides a focal chord in segments

of lengths 3 and 2 , then the length of its latus rectum is

A. 
3

2

https://dl.doubtnut.com/l/_LLPr64VPD0BZ
https://dl.doubtnut.com/l/_UezqscVOp3aY


B. 

C. 

D. 

Answer: D

Watch Video Solution

6

5

12

5

24
5

38. If (4,0) is the vertex , and Y-axis the directrix of a parabola ,

then its focus is

A. (8,0)

B. (4,0)

C. (0,8)

D. (0,4)

https://dl.doubtnut.com/l/_UezqscVOp3aY
https://dl.doubtnut.com/l/_ORORBEf0WlSv


Answer: A

Watch Video Solution

39. Length of latus rectum of a parabola whose focus is (3,3)

and directrix is  is

A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

3x − 4y − 2 = 0

https://dl.doubtnut.com/l/_ORORBEf0WlSv
https://dl.doubtnut.com/l/_y5O3hxsoEiiA
https://dl.doubtnut.com/l/_tswcylvIY7HK


40. What is the equation of the parabola, whose vertex and

focus are on the x-axis at distance a and b from the origin

respectively ? 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

(b > a > 0)

y2 = 4(b − a)x

y2 = 4(b − a)(x − a)

y2 = 4(b − a)(x − b)

41. If vertex of a parabola is origin and directrix is x + 7 = 0 ,

then its latus rectum is

https://dl.doubtnut.com/l/_tswcylvIY7HK
https://dl.doubtnut.com/l/_cxJUuX1jACD0


A. 7

B. 14

C. 28

D. 56

Answer: C

Watch Video Solution

42. Points on parabola , whose focal distance is 4,

are

A. 

B. 

C. (1,2)

y2 = 12x

(2, ± √3)

(1, ± 2√3)

https://dl.doubtnut.com/l/_cxJUuX1jACD0
https://dl.doubtnut.com/l/_XcU3QdTqbAKe


D. none of these

Answer: B

Watch Video Solution

43. The focal distance of a point on the parabola 

whose ordinate is twice the abscis is

A. 6

B. 8

C. 10

D. 12

Answer: B

Watch Video Solution

y2 = 16x

https://dl.doubtnut.com/l/_XcU3QdTqbAKe
https://dl.doubtnut.com/l/_YzvZ2laJZxv9


44. A parabola passing through the point (-4,2) has its vertex

at the origin and Y-axis as its axis . Then, latus rectum of this

parabola is

A. 6

B. 8

C. 10

D. 12

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_YzvZ2laJZxv9
https://dl.doubtnut.com/l/_fnliNufjA8Yi


45. A parabola has the origin as its focus and the line x=2 as

the directrix. The vertex of the parabola is at

A. (1,0)

B. (0,1)

C. (2,0)

D. (0,2)

Answer: A

Watch Video Solution

46. Find the point on the parabola  at which

ordinate is 3 times its abscissa.

A. (6,2)

y2 = 18x

https://dl.doubtnut.com/l/_u70KQ9K0qEne
https://dl.doubtnut.com/l/_B8yW1wW6sNKi


B. (-2, -6)

C. (3,18)

D. (2,6)

Answer: D

Watch Video Solution

47. The straight lines  intersect the parabola 

 in points P and Q, then length of PQ is

A. 4

B. 

C. 8

D. 16

y = ± x

y2 = 8x

4√2

https://dl.doubtnut.com/l/_B8yW1wW6sNKi
https://dl.doubtnut.com/l/_cy2UqJLBFglt


Answer: D

Watch Video Solution

48. Equation of the latus rectum of the parabola  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2y2 = 5x

8x − 5 = 0

8x + 5 = 0

5x + 8 = 0

5x − 8 = 0

https://dl.doubtnut.com/l/_cy2UqJLBFglt
https://dl.doubtnut.com/l/_v6IN3Jw1BaMG


49. For the parabola  , the points (s) P whose focal

distance is 17 , is/are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 4x

(2, ± 8)

(16, ± 8)

(8, ± 8)

(4, ± 8)

50. The two parabolas  and  meet in two

distinct points. One of these is origin and the other point is

A. (2,2)

x2 = 4y y2 = 4x

https://dl.doubtnut.com/l/_tIOi8Hp49FNw
https://dl.doubtnut.com/l/_KXtwMz1ndAjG


B. (4,-4)

C. (4,4)

D. (-2,2)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_KXtwMz1ndAjG

